Criminal Outline

I.  General Principles:


A.  Criminal Law:  Why the state as a party



1.  The state is a disinterested party, not really true but there is a sense 

that they are more disinterested than your neighbor.



2.  It is easier for the state to enforce laws than other groups or 


individuals.  



3.  Its more likely to be proportional



4.  It eliminates the fear of retaliation, it would be impossible to retaliate 

against the state.  The state does this by gaining control of the legitimate 

use of violence.




a.  Often women who didn’t have male protection would go free 


because the state previously, the state may only have been 


worried about  stopping vigilantism.  State v. Cheney.  



5.  The nation state has a broader range of interest than do people in 

localities.  In The Mounties, the state did thing that the minors didn’t do 

like levy takes because the state is working for the interests of Canada, 

not just the interests of the minors. 


B.  Aims of the criminal process -



1.  Retribution:  




a.  It is backward looking, 





1.  it seeks to reaffirm norms.  





2.  It has an element of just deserts. (more personalized 



than straight retribution)






a.  As the mumber of arrests go up, we are more 




pursuaded that the criminal is a bad person who 




should be punished.  We think they deserve more. 




b.  EX: May have been a small element in why Bergman got a four 


month sentence for white color crime.  He stole from old people 


in nursing homes.  US v. Bergman.  He became a symbol for the 


mighty fallen.  He was a rabbi who did philanthropy and yet he 


stole money from nursing home residents.   




c.  Types





1.  Strong (Kant)






a.  an eye for an eye






b.  moral culpability is nesessary and sufficient for 




punishment






c.  not merely for promoting society’s goals






d.  punishment is a positive good





2.  Weak






a. Morris:  Punishment failry impses on offenders to 




the burden assumed boluntarily by the rest of 




society and deprives them of the bnefit they 





unfairly obtained by violating the law.  







1.  equal assumption of benifits and burdens







2.  prevens the maldistribution of benefitrs 





and burdens







3.  retribute only those who violate a or b.






b.  Murphy (marxist)







1.  Practive of punishment in a polarized 





society in morally indefensivle.








a.  white collar criminlas, judges 






identify with individual criminals





3.  minimum morality.






a.  don’t hold to superior standards, just average 




person






b.  consider mitgating factors.  



2.  Deterrence:  Forward looking preventative.  It is not the same thing 

as the amount of the penalty in the Turnstile.  The penalty could be 

huge, if it wasn’t regularly enforced it wouldn’t matter.  The penalty 

must be the severity times the probability of getting caught.  


Deterrence and retribution are not unique to the penal law.




a.  General deterrence:  Give the general public an incentive not 


to do the crime.





1.  In Regina v. Dudly, this might have been a reason for 



punishing.    They killed the boy to save their own lives.   



Kikkik was different, she has no selfish motive for leaving 



her children behind.  





2.  Bergman:  He got a 4 month sentence for white color 



crime to send a message to other potential white color 



criminals.  





3.  State v. Chaney:  The very small punishment for a rape 



of a woman who got into his car sends the message that 



what Chaney did is okay.   It sets a bad norm.  




4.  Judge in Browder rejected his claim of an unusually 



harsh penalty for a white color crime and said that we 



need to deter by setting stiffer penalties.  





5. Problems






a.  does not necessarily relate punishment to crime - 




one year for jumping turnstiles.






b.  Must be careful with general deterrence because 




it doesn’t matter if someone is guilty or not, they 




can still be an example.  




b.  Specific deterrence:  The individual who has been punished 


won’t want to do the crime again.





1.  Some statistics say that longer sentences don’t make for  



stronger specific deterence.  




c.  3 ways to deter (Benthatm)





a.  certainty and swiftness






1.  probability of being arrested






2.  probability of conviction






3.  strongest method of deterrence





b.  severity






1.  more politically popular.  



3.  Incapacitation.




a.  selective





1.  pick people who will commit more crimes based on past 



offenses.





2.  element of retribution.





3.  problems:  






a.  ethical, it is punishment for future crimes






b.  statistical correlation is very poor






c.  punishment does not fit the crime rather than 




the criminal







a.  clashes with retribution.




b.  collective.





1. punish the same offense with the same degree, whether 



done repeatedly or not.  





2.  Problems






a.  evidence it doesn’t reduce crime






b.  expensive






c.  overcrowding





3.  In State v. Chaney the judge gave chaney a very small 



sentence for rape because he said there is only a small 



change that he could do it again.  



4.  Rehabilitation:  It is better if we fix the social problems we will be 

better off.  




a.  reason for the use of prison





1.  correctional facilities





2.  modern view:  use psycharity over prision.




a.  Problems





1.  it sometimes doesn’t work





2.  Prison may be better than a hospital because it is not 



indefinite.  Powell.





3.  Hampers with free will.  It tells people what is wrong.  



Society is saying you are sick and we will cure you. 

  



4.  It is rewarding people for criminal acts.  The drug case. 




c.  Utilitarian benifits





1.  get the most out of peopl in society.  correction = 




positive benefit = what is best for society as a whole. 




d.  ex: State v. Chaney:  the court said that  it would be vest for the 


rapist to be let go.  He could do better that way.  



5.  Reaffirms norms.  The state tries to enforce the most basic norms like 

norms against murder, theft, and intoxicants.  they chose a group of 

norms to make a certain kind of society.  In the US the majority chooses 

and enforces them.





1.  In Regina v. Dudly, this might have been a reason for 



punishing.    They killed the boy to save their own lives.   



Necessity is not a defense for murder.    





2.  We punish victimless crimes of violence because it 



harms the nnomr not to enforce it.  



6.  We use criminal punishment rather than monetary punishment for 

class issues.  We don’t want the rich to just buy their crimes away.  



7.  MPC:  To forbid and prevent conduct, subject ot public control 


distinguish between serious and minor crimes,


C.  Scope of the Criminal Process:  What to punish.



1.  Consensual sodomy 130:38:  A lot of people do it, it is almost impossible 

to enforce.  These crimes are victimless and take place in private.  

Bowers.



2.  Victimless crimes:  Crimes to society not to individuals.  To enforce 

norms, it must be a norm that most people think should be enforced 

(Prohibition).  




a.  Why the state should do it.





1.  There is no one else t enforce it but the state, although 



sometimes there is a tort action (Prostitution, seat belt)





2.  It safeguards the young and the incapacitated (mentally 



retarded)





3.  Public order and decency





4.  A norm is established by not punishing.  I.e.  in battered 



woman insidences when the woman does not want to press 



charges the state should punish anyway to enfoce the 



norm that battery is wrong.  




b.  Problems





1.  Invasion of privacy.  It is intursive.  





2.  lack of enforcement: this can lead to disrespect of the 



law.  Bowers.  





3.  Discriminatory enforcement:  Take a minority group.






a.  Bowers v. Hardwick:  We don’t like homosexuals 




or we don’t like particular homosexuals. 





4.  Bad allocation of police resources.  Bowers.  





5.  If the state is enfocing a norm that does not have 



widespread acceptance, the goverment loses legitamacy.  



Bowers.



3.  The justifying aim of the practice of punishment and the 


distribution of punisment are two questions that are different.  


How we justify a system of punishment need not determine 


which people should and should not be punishhed.  





1.  The law reflects thesre principles that function to limit 



the distribution of punishment






a.  culpability






b.  proportionality 






c.  legality


D.  Basis of criminal Liability



1.  Actus Rea (culpable act) voluntary + conscious = actus reus




a.  It is impossible to have a crime without an act.  You can’t know 


what people are thinking is not clear that people will follow 


through with what they are thinking.  





1.  The act must be voluntary, a conscious act.  See 15.2.  






a.  Martin v. State, a drunk was arrested in his home 




taken to highway bby police where he maintatined 




condition in violation of public drunkenness statue.  




He was found not guilty because action was 





involuntary.  Police can’t prosecute for something 




they brought about.







1.  Usually acts of drunks are voluntary







2.  When something happens with a private 





citizen, you are taking the risk.







3.  Police are different, they have more power 





than individuals.  




b.  An involuntary act is when you have no conscious 



desire to do what you have done.  Martin, Cogdon, Decina.





1.  refles convulsion






a.  People v. Newton:  D shot police officer when he 




was unconscious from being shot himself.  Not 




voluntary act.  Unconsiousness is a completetr 




defesne except in cases of intoxication.  






b.  People v. Decina:  epileptic, knowing of 





condition, operated a car.  Because he knew of his 




condition, he was guilty.  





2.  unconsciusness or sleep






a.  Cogdon Case:  Woman killed daughter while 




sleepwalking.  Sleepwaldin was a complete defense.  






b.  This is a defense because she is not blameworthy, 




we limit punishment to those who chose to violate 




the norms.  To give her a felony would be to pin a 




badge on her that she doens’t deserve.   





3.  hypnosis 






a.  not in all jurisdictions






b.  MPC not voluntary





4.  body movement not a product of actor’s own will.  




c.  An omission can be an illegal act. 





1.  NYPL





2.  There must be a legal duty and you must be able to 



perform.  (paying taxes.)






a.  Special relations, 






b.  contract, (lifeguard), 






c.  if the D caused the danger, when the D 





voluntarily assumes care.   






d.  In Pope, the court held that the woman had no 




right to usurp the role to the mom, and she may not 




be punished for not fullfilling a moral obligation.  




Policy reasons of the court, would impose too great a 




duty on bystanders. 





3.  The definition of an omission or an act is sometimes a 



policy decisions.  We define as omissions those things that 



we don’t want to impose a legal duty.  






a.  Barber:  Turning off a switch to the patent was 




treated as an omission to aid.   They wanted the 




doctors to get off so they made the act into an 




omission.  





4.  Omissions between private persons are generally not 



penalized






a.  Exception:  parent and child.





5.  Normally we don’t punish omissions because:






a.   our sense of retributive ness is higher for cases 




with affirmative harms






b.  there are practical problems, they are difficult to 




prove






c.  the blame worthiness is qualitatively different.






d.  The acts don’t constitute causes (Freezing man)






e.  individualism:  We don’t want to impose on a 




bystander.  



2.  Standards of Legality:  If it is not against the law, it is not a crime.




a.  no common law crimes, need statue to convict





1.  Many US jurisdiction used to hold:  Shaw v. Director of 



Public Prosection 1963:  GB:  D was publishing a booklet 



listing prostitutes.  They convicted Shaw of a conspiracy to 



corrupt public morals even though it wasn’t  a codified 



crime.  





2.  Now:  Traces of this doctrine linger in a few state, the 



recent movement for penal codification has made the 



doctrine obsolete in the US.  




b.  ex post facto:  If it was made criminal after you did it, there is 


no crime.  





1.  We want people to know what is wrong and what isn’t.  






a.  It becomes harder to punish the enemies of the 




government.





2.  there is no crime with out a law.   Statue constitution, 



general principles of criminal law.  





3.  Can’t enlarge a statue to fit a crime.






a.  Keeler v. Superior Court page 345 CA 1970:  D 




shoved knee into estranged wife’s stomach who was 




pregnant, killing the baby.  Court held that the fetus 




was not a human being.  Only human beings come 




under murder statue.   Such an enlargement would 




not have been foreseeable by the defendant.  The 




D.A. should not decide what is murder, the 





legislature should.





4.  Due process requires that ther is fair warning that the 



act is a crime.   Must be forseeable.






a.  Bouie:  Two black people took seats in he 





restaurant section of a SC drugstore, no notices were 




posted restricting the area to whites only.  The Ds 




refused to leave on demand.  They were arrested and 




convicted for not leaving after notice.  SC reversed 




the convictions holding that seeable state court 




construction of a criminal statue is applied 





retroactively to subject a person to criminal liability 




for past conduct is to deprive him of the due process 




of law in the sense of fair warning that his conduct 




constituted a crime.  






b.  However, the SC allowed it in Rose v. Locke:  D was 




charges and convicted of violating a TN statue that 




proscribed the crime against nature.  He was found 




to have engaged in cunnilingus.  The SC for the first 




time construed the statue to cover the act and the SC 




said it was okay because he should have known.  




c.  vagueness.





1.  ordinary people must be able to understand what 



conduct is prohibited.  This principle is the D side, one can 



be held guilty if you are approaching the line 






a.  drunk driving test.  This requires a clear cut act, 




there is a clear cut standard.  The purpose of the 




statue was to limit the power tf the state.  Burg v. 




Municipal Court 335.






b.  Possesion of a dangerous weapon:  There are alot 




of weapons that are dangerous, an ice pick, many 




kitchen goods.  TIt is so vauge that one can’t 





conform her conduct.  It penalizes an innocent act.  




The solution is to specify which weapons are illegal 




or to paoitr it with an intent.  






c. Louitering:  Vauge, we don’t know waht it is dont 




know how to conform befavior. 






d.  see Locke above about crimes against nature. 





2.  The statue must discourage arbitrary and discriminate 



enforcement.  (Vagrants in Popecristou.  IF it sounds like 



the police have a lot of power, I can criticize for 




vagueness.  This is from the prosecutors side.)







3.  The crime should have a specific charge, a specific act, 



and a specific time.  The D must be able to answer.  




Example:  John Damanuk in Israel he was charged with 



particular crimes.  They found him not guilty of those 



crimes even though he is a bad guy.  





4.  Vague statues fail to provide fair notice and fail to 



provide standard for enforcement.  




d.  Status v. Action:  The state can’t punish someone in a criminal 


way unless they have done something.   





1.  Papacristou:   makes criminal acts which would 




otherwisw be legal.  Bases arerests on ones character, 



states discretion is unlimites.  It is arvirarary and erratic.   



One can’t conform their befaviour to the law. 




2.  Robinson and Powell.  Robinson was a drug addict, there 



was no act.  Powell was drunk in public, it was an act.  The 



court says that alcoholism is no disease.  It is 





unconstitutional to punish without an act.  In powell 



taking the first drink was an act.




e.  The law can’t give controdictory comands




f.  Vagrancy demonstrates most problems with legaility





1.  failure to define conduct





2.  creation of a norm after an act





3.  vaugness - too much discretion





4.  punishes innocent acts as well as guilty ones.  



3.  Mens Rea:  Vicious will.  The mental state required by the definition 

of the offense to accompany the act taht produces or threatens the 

harm.  




a. Intentionally (purposefulness)  To do something intentionally 


is to cause the result or engage in the conduct. (battery, you must 


want to hit and hurt them). 





1.  Likelihood of result is irrelevant.  D must just wasnt 



harm to take place.    





2.  Subjective, as an individual.  Intent requires awareness.  



Proof that she should have been aware is irrelevant.  



3. Maliciousness for one crime doesn’t carry into the next 



because  we want proportionality.   Regina v. Faulkner:  



The D broke burned an intire ship down while trying to 



steal rum.  He was not found found guilty with burning the 



ship down because he didn’t burn the ship down 




intentionally and willfully.  





3.  NYPL:  Conscious objective to cause result





4.  General intent:  The D intended to commit the crime. you 



don’t need to intend to break the law.





5.  Specific intent.  






a. The intent to do something further or 





cause additional consequences in addition to the 




general intent.  












1.  burglary is trespassing plus the intent to 





take the  property.  Only specific  intent is 





certain aspects of kidnapping.







2.  assault with the intent to kill.  






b.  It may require a subjective awareness of some 




specific circumstance.  







1. Receiving stolen property  with the 






knowledge that it is stolen.  Need specific 





proof to prove.







2.  Ratxlaf is the general intent to avoid 





recording, no specific intent to break the 





law..  He knew he was structuring his affairs 





but he didn’t know he was breaking the law.  






c.  specific intent may serve as a mask for a 





conclusion about a desired legal result.  it is used 




commonly in connection with the defense of 




intoxication.  It functions to express and to 





legitimate a special rule that denies the fact of 




intoxication its normal evidentiary significance.






d.  Circumstantial evidence can be used to prove a 




specific intent.   





6.  Motive and intention are different.  





7.  Wishing is not intent.  




b. Knowledge:  An awareness that the conduct will lead to the 


circumstances.   (A substantial certainty).  Knowledge to all 


elements.





1. MPC: Distinctions between a&b.  One who wills something 



to happen intends, one who is willing to let it happen has 



knowledge.  





2.  Likelihood of result must be a mere certainty.  





3.  Relies on a subjective  evaluation. 





4.  Willful blindness will not let one off of the hook.  For 



example, in drug transportation, you will be assume to 



know.





5.  NYPL:  Aware that conduct is of nature and that circumstances exist


 

c.  Recklessness:  risk taking





1.  A person acts recklessly when she is aware of a risk and 



consciously disregards it.   It involves a consious risk 



creation.  MPC





2.  You are aware of the risk.  Substantial and unjustifiable 



risks.  You must be aware that your behavior poses a risk.  





MPC.





3.  The D must have recklessness to do the particular kind 



of harm.  






a.  Cunningham v. Regina: page 218, 1957.






Cunningham  broke off a gas meter to steal 





with out turning off the gas, allowing it to seek into 




injured neighbor’s house, endangering her life.  




The court sent the case for retrial.  It is possible that 




he is innocent on these facts if he knows nothing 




about gas meters.  The court thinks he will be guilty 




because he should have foreseen the consequences.  





4.  This is a subjective standard.  





5.  Willful blindness is different.  It must be a conscious 



disregard.  Ostrich instruction.  





6.  NYPL:  Aware of and consciously disregard a substantial 



and unjustifiable risk.




d.  negligence:  





1.  NYPL:  If you should have been aware of the risk, they 



will apply an objective standard.  





2.  You fail to perceive the risk that is substantial and 



unjustifiable.  A person creates a substatntal and 




unjustifiable risk of which wshe out to be aware.





3.  Objective standard.  We will get you even though you 



yourself didn’t see the risk.





4.  Less culpable than others vecause it is inadvertnt.  



4.  Elements of a crime.




a.  conduct




b.  attendeed circumstances,




c.  result




d.  state of mind.  




e.  EXAMPLES





1.  TREASON






a.  Conduct:  leving war or adhearing to enimies or 




aiding the enimes.







d.  Intent:  specific becasue punishmet is sefere.  It 




is betrayal so it must be deliberale.  





2.  Burglary






a.  conduct:  Must have entered and remaind in 




building unlawfully.






b.  attendant circumstancesL  The building is a 




dwelling  and it is a night,  One doen’t have to know 




that it is a  dwelling.  






d.  state of mind:  knowldeg with intent to committ a 




crime





3.  CA Burglary:  When you distroy properyt weecklessly, 



you are acting at your own peril. It reduces the burden of 



proof.  






a.  conduct:  cut down a plant






b.  mens rea:  malicious= reckless, you assumed the 




risk






c.  attendant circumstances:  50$ or more





4. Assault on an officer: 






a.  conduct:  assault






b.  recklessly:  knowingly took the risk






c.  attendent circumstances:  The assaulted was a law 




enforcement oficer.




a.  Mistake of Fact:  





1.  Generally:  a person’s misperception of reality, even 



when not caued by insanity, intoxication, or some other 



special factor, sometimes exculpates her for the harm she 



causes.  





2.  A mistake  of fact is a defense if it negates culpability or 



specific intent.  Most mistakes alleged in prosecution 



pertain to the specific intnet portion of the crimes.  



Specific intnent is “Assault witht he intnet to commit 



rape” and “Trespassory taking and carriny away of the 



personal properyt of another witht he intnt to deprive the 



other of the property permanently”






a.  Morissette: bomb casings taken and sold.  He was 




charged with knowingly converting them.   The 




court holds that he must be shown to have intnded to 




steal them. 






a.  In theft, must have a culpable awareness that the 




property belongs to someone else for the theft to 




occur.





3.  General intent.  A person is usually not guilty of a 



general intent crime if her mistake of fact was a 




reasonable one.  The underlying premise of this is that if D 



commits the actus reus of an offense due to a factual 



misunderstanding, she should not be blamed for the social 



harm unless she is culpable.



  


a.  Rape is a general intent crime so if the rapists 



belief was reasonable he can go home.  





4. Strict liability offenses allow for no mistake of fact 



because they have no mens rea requirement.  






a.  Statutory Rape







1.  Regina v. Prince:  page 233 1875.  18 year 





old D charged with taking an unmarried girl 





under 16 against the will of her father.  THe 





jury found taht she lied about her age.  





Because there was no mens rea necessary for 





the commission of this crime, he is guilty.  







2.  People v. Olsen:  D had sex with girl who 





told him she was 16, but turned out to be 13.    





Statutory rape was 18.  The worse offenses 





were under 14.  Strict liability under 14.







3.  MPC: Imposes strict liability as the age of 





the victim.  Section 213.6 provides that where 





criminality turns on the child’s being below 





age 10, the defense of reasonable mistake is 





not available.  






b.  speed limit






c.  others







1.  White v. State:  D violated a statue that said 





whoever being the husband of a pregnant 





woman, leaves with the intent to abandon will 





be imprisoned.  He was convicted even 





though he didn’t know she was pregnant. 





4.  Generally, you need to show intention or recklessness to 



convict under mistake of fact.  






a.  Example:  If you were aware of the gas itself 




coming out, 
but not that the woman would have 




been hurt, than you are reckless.  Cunningham.





5.   MPC:  Ignorance or mistake is a defense when it 




negatives the existence of a state of mind that is essential 



to the commission of an offense, or when it establishes a 



state of mind that constitutes a defense under a rule of law 



relating to defenses.  






a.  MPC: Belief that you are committing a different 




offense.  One shouldn’t be convicted of a graver 




offense committed inadvertently while one intends 




a lesser crime.  




b.  Mistake of Law:  





1.  Generally:  mistake of law is no defense.  





2.  NYPL:  A person is not relived because of a mistaken 



belief unless it is founded on an official statement of the 



law contained in a statue.  The statue relied on 




must acutally permit the conduct and it was later found to 



be erroeous.   Or an interpretation of the statue or law 



relatiing to the offence, officially made or issued by a 



public servant, or body letgally charged or empowered 



with the responsibilty or administering, enforing or 



iterpreting such statue or law.  








a.  People v. Marrero:  page 265.  NY 1987.  D was 




arrested in a NY club for the unlicensed possession 




of a pistol.  The statue exempted police officers.  It 




was not a good because the statue imposed liability 




irrespective of ones intent.   The policy 





considerations were it encourages people to know 




the law, it promotes society’s interpretation of the 




law.   Thus, the statue in question did prohibit the 




conduct.  





3.  Mistake of law is a defense if it negtates the specific 



intent of a crime.  






a.  Example:  State v. Woods 269:  D married man she 




believed was legally divorced.  Divorce was legal in 




Nevada but not recognized in CN.  Her honest believe 




was a mistake of law and was a defense because she 




lacked culbability.  

Is this mistake of fact or law?
d.  Ratzlaf:  He structured his money to avoid 





breaking the law.  It is a purly relatory offense.  The 




acts don’t carry interpretation of wrongs.  





4.  In strict liability a mistake of law is not a defense.  



Mistake of law is no defense if the statue imposes liability 



irrespecive of intent. 





5.  Reliance on Legal advice:  A person is excused for 



relying on some, but not most, legal advice that later turns 



out to be erroneous.  D is excused for violating a crimnimal 



law becasue of faulty advise if.






a.  the advice was obtained from a person or body 




with leagal aythority to aminister, enforce or 




interpret the law in question.







1.  Cox v. Louisiana:  1965 page 280.  The D was 





convicted of violating a anti parades near the 





court house statue with the intent to interfere 





with the administration of justice.    The SC 





reversed the conviction on due process 





grounds because city officials, the police 





chief and the sheriff gave permission for the 





demonstration to take place.  







2.  People v. Weiss:  D were led to believe by a 





police officer that they could detain a perosn 





suspected ot the murder of the Linbergh 





child.  The Ds lacked the intent to confine the 





victim without the authority of law.  






b.  The  advice obtained constituted an official 




interpretation of the law.   








1.  US v. Albertini:  D demonstrated on navel 





bases  which he was barred from doing.  Was 





told by the Court of Appeals that he was 





allowed to demonstrate.  The SC told him that 





he was not allowed to  demonstrate after he 





had done it a second time.  State attempted to 





prosecute ex post facto.  D acted during  a 





window of time where he reasonably believed 





his acts were protected.  Page 277  District CT.






c. Advice from private attorney are not official 




interpretations of the law and reliance is not 




justified.  







1.  Hopkins v. State:  page 279, 1950 Md.  The D 





was convicted of violating a statue making it 





unlawful to erect or maintain any sign 





intended to aid in the performances of 





marriages.   The state’s attorney advised him 





that it would not be violating the law.  The 





conviction was affirmed because the advice of 





counsel is no excuse.  Because it was a state’s 





attorney, it might be different in other 





places.  






d.  MPC:  generally doesn’t not recognize mistake of 




law unless the statue provides.  An exception is 




authorized reasonable reliance:  On official 





statement of a law, the statement of law found in a 




judicial decision, statue, administrative order, or an 




official interpretation by a public official or body 




responsible for the interpretation, administration 




or enforcement of the law.  It is much like the 




common law.  It is a defense if it negatives the 




purpose, belief, recklessness or negligence required 




to establish a material evidence of the offense.  




c.  Strict Liability:   All that is required is the voluntary conduct.  


Defined solely in terms of acts or results.   No mens rea 



requirement.  





1.  Strict liability crimes are usually:






a:  preventable






b:  small 






c: conviction does no grave damage too the 





offender’s reputation, 






d: they are public welfare offenses. 





2.  Policy justifications for strict liability






a.  adopted where mens rea requirement in 





ineffective. Speeding. 






b.  increases incentives to follow the law 






and for people to know the law






c.  easier to enforce the law and convict people






d.  Often used to protect certain classes.  Police and 




young women.






e.  Great deterrent of socially dangerous conduct v. 




small unfairness to the individual.  






f.  It creates a broad deterrent effect but no specific 




deterrence.  It encourages people to take care.





3.  Types of Strict liability offenses






a.  Public welfare offenses:  Different from 





traditional crime. 







1.  Penalty is often very small.  No social 





embarrassment.







2. conduct is not bad in and of itself it is just 





because it is prohibited.  Smuggling, FDA 





regulations.  Focus on the act.  







3.  Examples:  Sale of alcohol to minors, sale of 





adulterated food or drugs, sale of misbranded 





articles, violations of traffic and motor 





regulations.  






b. Traditional or common law strict liability







1.  Mistake of law is no excuse







2.  felony murder







3.  misdemeanor manslaughter







4.  bigamy







5.  statutory rape







6.  Assaulting an officer:  It  creates a  mass 





deterrent effect with respect to assaults, lacks 





proportionality.  







7.  Statutory Rape:  NYPL 15.20:  age is no 





excuse unless statue says so explicitly.  MPC:  





If a child is under 10, SL.  If a child is over 10, 





mistake of fact may be a defense.  








a.  Policy considerations:  









1.  protect the rights of the 







family









2.  protect father’s property 







rights









3.  deter indiscriminate set









4.  retributive






c.  Examples of statutory rape







1.  Regina v. Prince:  page 233 1875.  18 year 





old D charged with taking an unmarried girl 





under 16 against the will of her father.  The 





jury found that she lied about her age.  





Because there was no mens rea necessary for 





the commission of this crime, he is guilty.  







2.  People v. Olsen:  D had sex with girl who 





told him she was 16, but turned out to be 13.    





Statutory rape was 18.  The worse offenses 





were under 14.  Strict liability under 14.







3.  MPC: Imposes strict liability as the age of 





the victim.  Section 213.6 provides that where 





criminality turns on the child’s being below 





age 10, the defense of reasonable mistake is 





not available.  





5.  The head of a corporation can be held strictly liable for 



the offense if she had by reason of her position the 



responsibility and authority to prevent it.  US v. Park:  Gov. 



charged Acme and Park with violating the Federal Food 



Drug and Cosmetic Act.  Park was the chief executive.  He 



was found guilty of the strict liability.





6.  Impossibility defense:  MA court says that the Park 



reasoning about impossibility means that the corporate 



officer can introduce evidence to establish an affirmative 



defense that she exercised extraordinary care and could 



still not prevent the act.  






b.  common law has adopted strict liability in some 




cases





7.  Problems:  It creates an distorted set of incentives for 



criminals.  They may change behavior for the worse.  



Example:  Police captains are held strictly liable for 



officers under their command.  If corruption is occurring, 



the will be guilty no matter what.  They have not incentive 



to pay attention.  





8.  Can not construe a congressional purpose to displace 



mens rea in theft and other crimes that were early 




offenses because there is no explicit language requiring 



an intent to steal.   Morrissette v. US






a.  reasons:  Not just regulatory problems






mens rea is usually assumed





9.  MPC:  Makes a frontal attack on SL in the law. No 




criminal conviction unless the prosecutor proves the mens 



rea for each element of the offense.  Can have SL for 



violations but not crimes.  



5.  Proportionality:  Veiw that punishment must match the crime. 




a.  Why is proportionality is important 





1.  We want to make people prefer the lessor offense when 



two offenses come into competition.  





2.  Have criminals do a cost benefit analysis.





3.  Adjusting the punishment for the manner of each 



particular offense will make the criminal think that they 



can restrain the offender





4.  too sever of punishment makes people hate the state and 



forget about the crime.  





5.  general and specific deterrence





6.  Rehabilitation





7.  Retribution






a.  Death Row for 5th Youth in 2 Killings:  “Familes 




of Victims Happy at Verdicts.”  






b.  Retributiveness v. utilitarian







1.  Retributive focus on harm done







2.  Utilitarian focus on future harm





8.  Jail crowding is bad so punish the worst the most




b.  Factors that determine the severity of punishment




1. harm done, 





2.  blame worthiness





3.  Genrally, as violaence and intentionality increase, the 



punishment is creater.





4.  Class of victims make punishment greater, some crimes 



will be punished more severely:  killings of cops




c.  Constitutional dimensions





1.  The 8th amendment prohibits infliction of grossly 



disproportional punishment.  Harmelin v. Michigan 





2.  The court would prefer to defer to a state’s decision on 



what constitutes non excessive punishment





3.  statues authorizing the penalty of death will be more 



carefully scrutinized that imprisonment 






a.  Rummel v. Estelle:  The Court distinguished the 




capital punishment cases as unique and took a 




restrictive view of the constitutional of 





proportionality in other punishments.  The court 




upheld a mandatory life sentence for fraud.  






b.  The death penalty for rape is unconsitutitonal.  




Coker v. Ga.





4.  In death penalty cases, the court is willing to conduct a 



more subjective analysis of the state’s punishment and 



invoke retributive rather than utilitarian concepts of 



proportionality.  A certian amount of descretion is 



needed see mandatory senteses of death.

  



5.  In non death penalty cases, the court will probably seek 



out and apply only objective criteria






a.  The SC upheld a life imprisonment for a drug 




sellor.  Harmeline:  Got a mandatory sentence of life.   




The court acknowledged that the eighth amendment 




contains a proportionality guarantee.  





6.  Cruel and unusual punishment only apples to the type 



of punishment, not the lenght of sentence.




d.  Mandatory sentences of death:  Requires some amount of 


discretion.  Court has outlined some guides.  





1.  Woodsnon v. North Carolina:  1976 page 571.  The court 



held that a mandatory death sentence for any first degree 



murder violates the eighth amendment because it has no 



standards.  Same result in Sumner v. Shuman 1987.





2.  Proffitt v. Florida:  The court said that a statue that 



provided the jury with criteria for determining who gets 



the death penalty by a majority vote was okay as along as it 



wasn’t mandatory for the judge to accept it.  





3.  Locckett v. Ohio:  A statue specified that any one of s



even aggravating circumstances was found, the death 



penalty must be imposed unless there was one of there 



mitigating circumstances.  The court said that this was too 



narrow a range of discretion. 





4.  Jurek v. Texas: 1976.  The court provides the following 



creteria for determining whether to impose the death 



penalty.  1) Whether the conduct was done deliberately and 



with a reasonable expectation of causing death. 2) whether 



there is a probability that the D will be a threat to society.  



3) whether the Ds response was an unreasonable response 



to provocation by the deceased.  Any negative answer = life 



in prison.  This system helps to insure that the death 



sentence won’t be imposed wantonly.  





e. Death Penalty Considerations:  Why it may be bad





1. Deterrence:  There is a difference of opinion






a.  the trends of the homicide death rates of 





comparable state with or with out the death penalty 




are similar






b.  The generalized threat of the death penalty may 




deter






c.  How the death penalty is applied determines the 




deterrent effect it has.   It needs to be and quick.






d.  Ehrlich came up with a study that said one death 




penalty saves eight lives.  His study is widly 





criticized.






e.  Incapacitation sometimes doesn’t work.  Maybe in 




these limited cases.  






f.  In sum, there is little evidence here when the 




punishment is compated to life in prison.  The death 




penalty costs more.





2.  Error and Irrevocability






a.  Most errors, but not all are. Joe Burrows, a 




witness recanted while he was on death row.  





3.  discriminatory administration






a.  The death penalty has no standards.  It is difficult 




to understand how to administer.






b.  Black people and the poor are subject to it more 




often.  





c. Some groups can’t get good representation.






d.  discretion to use the death penalty often 





perpetuates the discrimination of the death penalty.  






e.  Evidence of discriminatory infliction of the death 




penalty does not make it unconstitutional.  McClesky 




v. Kemp 1987 page 576:  McClesky a black man was 




convicted of two counts of armed robbery and one 




count of murder against a white police officer.  he 




was sentenced to death.  Evidence was presented to 




show that the death penalty is 4.3 times more likely 




to receive the death penalty. 






f. Must show intentional discrimination, not 





statistical.  





4.  general sactity of life:






a.  DP decreases cultural respect for life, state 




mandated murder, if the government can do it why 




can’t I.




g.  It might mean that some crimes are more serious, a ratchet of 


grading offenses.  




h.  MPC, NYPL and CA.PC all say proportionality is important.  


E.  Homicide:   Killing of a human being.  It was made into gradations in PN 
1974 to confine the death penalty to the most serious crimes.



1.  First Degree Murder




a. NYPL 125.27:  Intent to cause the death of another and cause the 


death of another where victim is a police office, employee of a 


correctional facility, and where D was serving a sentence for at 


least 15 years and had escaped and is older than 18.  





1.  Affirmative defenses:  extreme emotional disturbance 



for which there was a reasonable explanation or cause and 



aiding suicide.




b.  CA Penal code:  Murder is the unlawful killing of a human 


being or fetus, with malice aforethought.  





1.  Malice may be expressed or implied,  Deliberate does not 



mean intentional it means planned.  





2.  People v. Anderson, CA  430:  D killed little girl slowly.  



There was not enough evidence for first degree murder.  



In CA must be proved  that the intent to kill was formed on 



a preexisting reflection and have be subject of actual 



deliberation or forethought.  In this case, D did not meet 



the test to prove premeditation because the planning 



wasn’t clear, there was no motive, and there was a random 



stabbing pattern.   






a.  Test:  need a or c.  






1.  Show D had engaged inactivity directed 





toward killing, planning activity.







2.  Show motive through relationship







3.  Show that the manner of killing showed a 





preconceived design. 






b.  The Anderson test is hard to prove because the D 




is not going to say what he did.  Circumstantial 




technical evidence does not necessarily mean it was 




premeditated.  





3.  Fetus was added after Keeler.  





4.  CA  got rid of premeditation. 



c.  Problems with making planning a heavier penalty:  Following 


the MPC, many recent criminal law revisions reject the 



premeditation deliberation formula because it seems incorrect 


that the person who plans is worse than  a person who kills on 


sudden impulse.  





1.  Planners:  mercy killings, infanticides, suicide





2.  Impulsive:  murder and rape, other murders. 




d. PN:  Criminal homicide committed by an intentional killing, no 


premeditation formula.  Same as MPC.  





a.  No time is too short to premeditate. Carol





b.  Commonwealth v. Carol PA 1963 page 425:  D murdered 



his wife in sleep.  It was a first degree murder because 



specific intent found in D’s conduct and the intended 



circumstances,  irresistible impulse not a justification.  




e.  No time is too short to premeditate.  Many  courts have 



followed.





1.  Cardozo suggests that because choice is always 




deliberate and premeditated.  The degrees are just giving 



the jury a choice.




f.  Malice aforethought is a comprehensive name for a number of 


different mental attitutdes which have veen variously defined at 


differentr stages in the development of law.   Premeditation.  



2.  Second degree murder:   Class A-1 felony




a.  NY:  NYPL 125.25:  





1.  Intend to cause the death of another and cause the death 



of such person or third person, 










a.  Can be Vehicular.  U.S. v. Fleming:  Page 488 4th 




Circuit.  D can be charged with murder rather than 




homicide because the way he drove showed malice 




aforethought.  Malice is “reckless and wanton and a 




gross deviation from a reasonable standard of care.”







1.  Most courts hold that vehicular can be 





murder if there is an actual awareness of a 





great risk of harm.  Could be depraved 






indifference in NY and you don’t have to be 





aware of the risk just show a depraved heart.    





2.  depraved indifference to human life






a.  Must show D created a risk of death






b.  Must prove recklessness







1.  aware of a substantial and unjustifiable 





risk that conduct would create risk.  






Knowledge of risk and don’t care.







2.  Gross deviation from the standard of 





conduct that a reasonable person would 





observe.  







3.  Intoxication is no defense.  It may even add 





to the recklessness.  






c.  Must prove depraved indifference:  Is it as 




blameworthy as an intentional killing?






d.  An unintended killing can be murder







4.  Examples:







*Stienburg:  Hit his daughter and then 





omitted to get her help.  







* Shooting into a crowded building







* People v. Burden:  D did not feed baby for at 





least 2 weeks.  Omission of a duty = act, where 





there is depraved indifference.  He knew the 





baby would die and he didn’t care.   







* Commonwealth v. Malone:  Page 485.  D shot 





friend while playing Russian Roulette.  





Recklessness rose to level of depraved 







indifference.  







* Henderson v. Kibbe:  D robbed and left 





victim in road drunk and was hit by car and 





killed.  D’s created the original circumstances 





where an intervener response is not 






unnatural, then there e is causation.  Ds were 





found guilty. 

 



3.  Felony Murder (see after homicide)






a.  Felonys included







1.  robbery







2.  burglary







3.  kidnapping







4.  arson







5.  rape in the first degree







6.  aggravated sexual abuse







7.  escape in the first degree





4.  Depraved indiference to human life and being 18 years 



old or more the D recklessly engages in conduct which 



creates a grave risk of serious physical injury or death to a 



person less than 11 years old and causes their death.  





5.  Affirmative defenses:  extreme emotional disorder, 



aiding a suicide.




b.  PN: Felony Murder





3.  Murder, is this enough to convict?  





a.  Inadvertent risk creation.



*MPC: the inadvertent risk creation can’t be punished as murder 


because it should be grounded in subjective culpability.  You can 


have murder when D acts “reckless under circumstances 



manifesting extreme indifference to the value of human life.


b.  Intent to inflect great bodily harm. It established the intent 


required for murder under common law.    MPC did not adopt.  


Where it is adopted there is a question as to how serious the 


intended injuries must be.

  



1.  In Commonwealth v. Dorazio PA 1950:  page 496.  D beat 



up a coworker who died of a brain hemorrhage.  The court 



upheld murder because he intended injury that interfered 



with his heath and comfort.  




c.  The requirement of a resulting Death.  





1.  Son’s Death mean’s Ex cons is now charged with murder.  



A man stabbed his son, his son went into a comma, he 



served two years and got out.  His son died and he retried 



for murder.  Reactions varied.  






a.  It is the harmful potential that matters, we should 




try to shape risk creation instead of deal with the 




actual result.  






b. The only reason to punish fort the effect and not 




the cause is vengeance, 







c. The act of creating risk should be punished, not 




bad or good luck) 






d.  THE MPC has reckless endangerment provisions, 




making it a misdemeanor.  



3.  Manslaughter:  First Degree or voluntary




a.  NY:  (NYPL 125.20) Intent to cause serious physical injury and 


causes death; intent to kill under circumstances which don’t 


constitute murder because she acts under EED; performance of a 


abortional act on a female pregnant for more than 24 weeks 


which causes her death; D 18 or older and victim 11 or younger 


while recklessly engaging in conduct which creates a grave risk 


of serious physical injury to such person and thereby causes her 


death.  




b.  CA:  Sudden quarrel or heat of passion.  




c.  Unlawful act doctrine:  If you  perform an unlawful act and 


someone dies then you are guilty of manslaughter, no smatter 


what state of mind and unaware ofthe risk.  State v. Hupf, DE, page 


501 where D ran a stop light.  NY and MPC have not adopted.   The 


unlawful act must be the proximate cause of death.  Many states 


have abolished it.  



4.  Defenses that bring a murder to manslaughter




a.  Extreme Emotional disorder:  MPC formation





1.  NY:  125.25 D acted under the influence of extreme 



emotional disturbance for which there was a reasonable 



explanation or excuse.  D had the burden of proof.  






a.  Not reasonable to kill, but reasonable to be 




disturbed.   It is a subjective test, with a reasonable 




disturbance.  






b.  People v. Casassa NY 448:  D killed woman who 




dumped him by stabbing her to death, EED was not 




an excuse because it was not reasonable that he be 




disturbed.  





2.  At least 16 states have adopted the EED.  





3.  Causes jury to  get to the reasonable doubt if there is a 



preponderance of evidence, over 50 percent.  




b.  Provocation:  





1.  Common law it was very limited.  The only instances 



where it could be used were finding your wife in bed with 



another man, and touching or battery.  Insulting words 



were never a sufficient provocation.





2.  Currently, the standard is like Maher.  The 




manslaughter issue must be left to the jury whenever the 



evidence shows any circumstances that might cause a 



reasonable person to lose control.  






a.  if provocation occurred is a fact question.  It 




should got to the jury. 





3.  Elements of common law provocation






a.  reasonable cause for provocation







1.  Otherwise all D’s would use as an excuse 





that they are angry people.







2.  Most states have some element of 






objectiveness.  






b.  did cause provocation







1.  many courts have ruled that when D is at 





fault in creating a situation, the provocation 





defense fails as a matter of law.  






c.  no cooling time







1.  In People v. Ashland the D searched for 17 





hours to find the man he believed raped his 





wife.  The court held that the law won’t 





permit the D to deliberate, avenge and set up 





the plea that it was in the heat of passion.







2.  Some courts have allowed for a rekindling 





of the earlier provocation.  







3.  Some courts have softened this rule.  





People v. Berry:  D waited in V apartment for 





20 hours before killing her.  The court held 





that the jury could find the D’s heat of 





passion was smoldering and aggravating 





during the wait.  






d.  D had not cooled down.  





4. Purpose:  Relateds to the character of the victim,  It is 



about being ordinarily inraged.  We may allow it to go to 



manslaughter because the jury would acquite the person 



of murder.  It doesn’t protect life.  





5.  Example:  Maher v. People:  D shot V in the ear in a bar 



after seeing him go into the woods with wife and hearing 



that they were having an affair. 





6.  Problems:  Gives a break to hot headed D’s, not benefit to 



calm people, the reasonable person standard is meant to be 



an ethical guideline, may be saying that it is reasonable to 



murder someone.  It is morally questionable to say that 



society suffers less in the V death because the B acted 



immorally.  The D’s mental state should matter rather than 



V’s conduct.  



5. Manslaughter:    Second Degree or involuntary




a.  NYPL:  (125.15)-- 





1.  recklessly causes the death of V, 






a.  Actor is aware of and consciously disregards a 




substantial and unjustifiable risk.  It is a gross 




deviation from reasonable person standard.   Don’t 




have to create the risk.






b.  Intoxication is not an excuse for unawareness.







1.  Welansky:  page 469.  Reckless conduct and 





disregard of grave danger to safety of patrons 





in event of fire on premises.  






c.  There are some justifiable risks.  Parish v. state 




page 474 hypo:  Woman is chased by killing 





husband.  While running was she kills someone on 




accident.  She can not be convicted of manslaughter 



because it was a justifiable risk.  





2.  Performs an abortional act on woman that results in 



her death





3.  International aid of person committing suicide.




b:  CA:  In the commission of an unlawful act not amounting to a 


felony, or in commission of a lawful act which might prooduce 


death in an unlawful manner, or without due caution and 



circumspection.  




c.  WA:  Requires only simple negligence. 





1.  State v. Williams:  Page 475.  Indian couple were 




convicted of manslaughter for negligently failing to 



supply their 17 month child with the necessary medical 



attention.  They had low levels of education and didn’t want 



to hurt the child.  Not reckless because they were not 



aware of the possible consequences.  Under NY law this 



would be a negligent homicide.



6.  First Degree Vehicular Manslaughter 




a.  NYPL 125.13:  One commits 2nd degree vehicular manslaughter 


and knows or has reason to know that his license is suspended or 


revoked due to refusal to submit to a alcohol test or conviction of 


traffic violation.  




b.  CA:  Driving in the commission of an unlawful act with gross 


negligence or driving during the commission of a lawful act 


which might produce death with gross negligence.  



7. Second Degree Vehicular Manslaughter (NYPL 125.12) Commits 

criminally negligent homicide and causes the death of another person 

by the operation of a vehicle.



8.  Criminal Negligent Homicide: (NYPL 125.10)  With Criminal 


negligence, D causes the death of other person, gross and substantial 

deviation from standard of care without awareness of the risk



9.  NYPL uses modified - objective standard




a.  Not excuses





1.  D’s IQ





2.  Alcholism






People v. Registrar:  The reasons why it is not an 




excuse:  We don’t want to give drunks a break, we 




think there is moral blame for getting drunk, an 




awareness of the general harm of drunkeness.  





3.  Temperment





4.  Idiosyncratic moral values




b.  State v. Williams 475:  Indian D’s baby died due to tooth 



infection which Ds never showed to a doctor.  The court applied 


the ordinary standard of care.  D’s education or intellegence was 


not taken into account.  The policy reasonas wer general 



deterrence and safelty of the child over their personal worries.  



10.  Causation:  General for all murder




1.  Rule:  individual is criminally liable if their conduct is





a.  sufficiently direct cause of death, not necessarily the 



sole or exclusive factor





b.  the ultimate harm should have been foreseen.




2.  Application: 





a. People v. Arzon NY:  It was foreseeable and probable that 



firemen would respond to D’s fire thus exposing them to 



life threatening danger even if the actual cause of death 



was 2d fire.






1.  Defense says:  The injury did not spring from 




Arzon’s act.  The causation wasn’t his fire.  They 




would have escaped with only his fire, there was an 




intervening cause.  






2.  Prosecution says:  There was proximate cause.  IT 




is one of the causes of death.  The risk must 





encompass the final result.  It was foreseeable.  





b.  People v.  Kibbe NY:  Ultimate harm need not be 




intended by actor if it something that could have 




reasonably been foreseen, but for cause (robbed drunk left 



in cold and hit by car.  Applying Arzon, they did murder.  





c.  People v. Stewart NY:  An obscure or merely probable 



connection between D’s conduct and another person’s 



death was not sufficient for cause.  




3.  MPC:  Uses a but for test.  The injury must be sufficiently 


related to the crime.  



11.  Felony Murder:  Part of second degree murder in NY.




a.  The Rule:  A person is guilty if they kill another during the 


commission or attempted commission of a felony.  IT apples 


whether a felon kills intentionally, recklessly, negligently, or 


even accidentally under circumstances in which a reasonable 


person would not have foreseen a substantial risk.  





1.  Intoxication and EED are not defenses.





2.  MPC rejects





3.  NY and PN have as part of 2nd degree murder.





4.  Example.  Regina v. Serne:  D’s accused of committing 



arson and killing son.  Mens rea of felony and death 



results, apply that mens rea to death.  





5.  Odd example:  People v. Stamp:  PG 509, CA.  D robbed Carl 



Honeyman, Honeyman had heart problems and died of a 



heart attack directly after the murder.  D was held strictly 



liable.  




b.  Rational of the rule;  deterrence of negligent and accidental 


killing during the commission of felonies.  Reaffirm the sanctity 


of human life.  Easing the prosecutions burden.





1.  Holmes:  Deters conduct with risk of death





2.  MacCaulay:  To deter F-m increase puinshment for 



felony vecause it is fortuitous if murder occurs.  




c.  Limitations.





1.  Only Dangerous felonies are included.






a.  Felonies included in NY







1.  robbery







2.  burglary







3.  kidnapping







4.  arson







5.  rape in the first degree







6.  aggravated sexual abuse







7.  escape in the first degree






b.  Look at the crime abstractly to determine if it is 




dangerous.  This gives a bright line deterrent and 




we are able to punish especially dangerous felonies.  







1.  People v. Phillips page 517 1966.  D was a 





doctor who induced the parents of an eye 





cancer victim to forego removing the eye on 





the advice that he could build up her 






resistance.  She died.  He could not be charged 





with felony murder because the felony he 





committed is not inherently dangerous.  The 





court said that they look at the crime of fraud 





in an abstract, not subject to the specific facts 





of the case to see if it is dangerous.  





2.  Independent felony or merger limitation.  The felony 



must be independent of the homicide, or not merge with 



the homicide.   This is because it would allow one to convict 



on murder when there was only evidence of 





manslaughter.






a.  If we didn’t have this we could collapse 1rst 




degree manslaughter into murder.  murder could be 




charged without having to prove the elements of 




murder.







1.  Steinburg is an example.  







2.  People v. Smith:  page 525 CA.  felony child 





abuse can’t precede felony murder because 





the predicate felony is an integral part of the 





homicide







2.  People v. Jackson:  page 529 CA:  The Child 





abuse charge did not merge with homicide.  





The court held that child abuse in this case 





had an independent collateral and separate 





intent to inflict bodily harm, that was to bend 





the child’s will to that of her fathers.  






b.  Assault isn’t included with felony murder 





because we want to maintain proportionality and 




prevent the murder of manslaughter into murder.  






c.  People v. Miller:  NY burglary with intent to 




assault and killings result.  Felony murder is 





appropriate because burglary overrides assault 




charge.




d.  vicarious liability:  Liability extends to CO-felons.  





1.  US v. Heinlein:  unanticipated actions of a CO felon con 



not to be attributed to other felons, vicarious liability but 



in NY the Mens rea of D has to be proven the same as the 



killer.




e.  Killing by a non-felon:  





1.  Agency Approach:  The majority rule is that the felony 



murder doctrine does not apply if the person who directly 



causes the death is a non felon.  





2.  Proximate Causation:  A felon may be held liable for a 



killing committed by a non felon if the felon set in motion 



the acts which resulted in the victims death.  The issue is 



one of proximate cause and forseeabilty.  





3.  Redline Rule NY 125.25:  Focuses on who was killed.  If 



the person killed is a CO felon, felon can’t be held liable for 



f-m.  The only exceptions if the felon intentionally kills 



the CO felon.  





4.  State v. Cannola:  NJ page 531.  D robbed a store when the 



victim shot one of the CO felons, the victim was also shot 



and killed.  d was found not liable for the death of the CO 



felon by the man resisting the felony.  




f.  Affirmative Defenses:  Had no impact on the homicide and was 


not armed with deadly weapon and no reasonable ground to 


believe that any participant was armed with a weapon and would 


engage in conduct likely to result in death or serious physical 


injury.  This is in NY 125.25.  




g.  Killings not in furtherance of the felony  This is like killing 


by a non felon. See killing by a non felon.





1. Redline rule in PA that killings must have been done in 



the furtherance of the felonious undertaking.    


h.  Shield cases





1.  Taylor v. State:  D’s were liable wen the forced V to 



occupy a place of danger in order that they might carry 



out the crime




i:  Problems:





1.  Proportionality.  





2.  Erosion of concurrence between mens rea and actus 



reas.  


F.  Rape:  A changing crime.  “unlawful sexual intercourse by a man with a 
woman without her consent by force or fear.”



1.  NYPL 




a.  NYPL: 130.35:  First Degree: Class B Felony





1.  Male who by force engages in sexual intercourse with a 



female by forcible compulsion or who is incapable of 



consent by reason by being physically helpless or who is 



less than 11 years old.




b.  NYPL:  130.00:  Second Degree:  Class D Felony:





1.  A person is guilty of rape in the second degree when, 



being 18 years old or more, he or she engages in sexual 



intercourse with another person to whom the actor is not 



married less than fourteen years old.  




c.  NYPL:  130:35:  Third Degree.  Class E felony.  





1.  Third Degree:  He or she engages in sexual intercourse 



with another person to whom the actor is not married who 



is incapable of giving consent.  Or being 21 years old or 



more, he or she engages in sexual intercourse with 




another person to whom the actor is not marries less than 



17 years old.  




d.  PN:  First degree rape:





1.  A person commits when he engages in sexual 




intercourse with another person not his spouse by forcible 



compulsion, threat of forcible compulsion that would 



prevent resistance by a person of reasonable resolution, 



with an unconscious person, or a mentally deranged 



person incapable of consent.  



2.  General:  Intent to intrude without consent



3.  Actus Reas:  Hard to separate from mens rea because rape depends on 

the issue of consent.  The underlying act is not inherently wrong.




a.  Her resistance.





1.  Classical pattern:  Forcing yourself on an unwilling 



victim by threat or literal physical violence.  The woman 



would have to resist to her utmost.






a.  we don’t require other victims to get hurt in 




order to prove that there was a crime.  






b.  Many courts still ghold that a woman must resist 




to the utmost unless there is a real serious threat.  






c.  The majority rule now is that that verbal 





resistance is sufficient.  D proceeds at his peril after 




this point.






d.  MI has repealed resistance all togher.  





2.  Now most courts require reasonable resistance.   She 



does not have to resist if she was reasonably afraid.   






a.  Gonzalas v. State:  page 383 WY 1973.  D got into 




V’s car and after becoming afraid drove to where he 




told her.  He returned and said he was going to rape 




her.  He was getting mad as she was trying to talk 




her out of it, she submitted after threat.  The state SC 




held that it must be a reasonable fear and the 




reasonableness must rest with the fact finder.   






b.  If V’s fear not to resist must be reasonable and it 




is a question of fact for the jury.  






c.  State v. Rusk page 368 MD 1981:  D imprisoned 




woman by taking her keys, then lightly choked her.  




The court found that she didn’t have to resist with 




force if her fear was reasonable.  

 




threat verses fear.






d.  feminist critics say that women don’t respond the 




same way to male violence as men do making her 




resistance seem unreasonable.





4.  Some courts hold that if words are to be considered 



threatening to paralyze use of forcible resistance, the 



controlling state of mind must be the person who utters 



the words.






a.  People v Evans:  NY 1975 page 373.  D lied to 




woman about conducting a social experiment and 




then said I could kill you, I could rape you.  I could 




hurt you physically.  Court ruled that you must look 




at how D intended the words, not how V perceived 




them.  







5. MPC says overwhelming the will of a reasonably resolute 



woman is rape.  




B. His force.  





a.  Most serious degrees of rape require proof of 




intercourse by force or forcible compulsion.  





b.  MPC:  Most intercourse is not criminal, even absent 



consent.





c.  Policy reasons:  Freedom of sexuality rather than 



physical protection. 





d.  Feminist critics note that force is not just physical.





e.  Implied threats:  Some courts do accept others don’t.  The 



most extreme cases are those in which adults instruct very 



young children to engage in sexual activity and become 



angry if they resist. 






1.  State v. Etheridge:  NC 1987 Page 386.  A father was 




convicted of committing a sexual act on his son by 




force and against his will. The age of the child along 




with  the parents power create a unique situation.  






2.  People v. Young:  page 386 CA Father ordered his 




six year old daughter to submit to sex act.  He was 




found not guilty of forcible rape because there was 




no evidence of threat or prior threat of bodily harm.  





f.  threats without physical force:  Almost always not 



accepted.  See NYPL.






1.  Commonwealth v. Biggs:  PA 1983 page 387.  The D 




had sex on several occasions with his 17 year old 




daughter.  He used the bible, not physical force.  The 




court reversed a conviction for rape because there 




was no forcible compulsion because the D had not 




used violence but bible.  






2.  Commonwealth v. Mlinarich:  page 387 PA.  V was 




a 14 year foster child who submitted to D’s sex 




advances after he threatened to send her back to the 




detention home if she refused.  The court reversed 




conviction saying that need physical force or threat 




of physical force.






3.  PA SC held that force could be construed as 




physical moral, psychological, or intellectual.  





g.  NYPL says forcible compulsion means to compel by 



“Physical force or threat, express or implied which places 



a person in fear of immediate death or physical injury to 



himself, herself,  or another person.  





h.  WI:  Don’t need threat it is criminal without consent by 



the use of threat of using a dangerous weapon, second 



degree sexual assault includes intercourse without consent 



by use of threat of force or violence.  Third degree is 



sexual intercourse with out consent, consent meaning 



words.  





i:  once physical force is established, then consent after 



this point, can’t be given.  D can’t claim mistake of law.  




c. mistake of fact is generally accepted if it is 



reasonable.

   


Mistake of fact is bound up with actus reas.  The question of 


mistake of fact makes no sense unless force includes threats and 


implied threats.  





1.  Divergent realities for men and women.  McKennen.




d.  MPC seeks to shift the focus of attention from the victim’s 


behavior to the Ds and to differentiate beteween the differnt 


degrees of force.  




e.  fraud is generally not accepted unless the fraud involved 


inpersonating a husband.  





1.  Policy explaination.  It is very widespread, have to put 



half of the population in jail.  





2.  Boro v. Superior Court:  page 378 CA:  D lied to V saying 



he was a doctor and she had a diseade that could be cured 



by having sex with an anonymous donor.  She submitted.  



The court found him guilty of fraud rather than rape.  



4. mens rea:  Hard to separate from actus rea because rape depends on 

the issue of consent.  The underlying act is not inherently wrong.  




a.  Subjective mental state:





1.  Is the sincere belief that a victim consented a defense?  



It is widespread law that sincere belief is not enough.  






a.  Even a subjective standard has objective 





components, the jury said that there is no way you 




could  have belived this in Morgan.  






Regina v. Morgan:  UK 1976 Ds raped Morgan’s 




wife.  Morgan told them that she wanted it, she 




struggled, they did it anyway.  The court held that 




they could not be held guilty of murder if they did 




not believe that she didn’t consent.  




b.  Reasonable or objective standard.   Failure to be aware of lack 


of consent when a reasonable person would have been aware.   


No means no is the application.  Most courts use a this standard.






a.  Commonweath v. Sherry MA 1982:  The Ds were 




doctors who raped a woman who verbally protested 




but who did not physically protest.  They court said 




that the belief that a woman consents must be 




reasonable.   The court rejected a good faith belief 




and adopted a reasonableness test.






b.  CA says that reasonable mistake of fact is a 




defense.  




c.  Possible standards





1.  Recklessness test:  Aware of a risk and conciously 



disregard it.  Should have known.  






a.  AL mistake of fact must be recklessness for 




conviction.   





2.  Negligence:  Should have been aware of a risk.  Willful 



blindness could be involved.





3.  Strict liability?  If a woman could convince a jury that 



she didn’t consent it could be rape.  We have strict liability 



to protect class of people with special problems police and 



children.   Juries would find it hard to administer.  There is 



no underlying wrong. The entire act becomes hard to 



administer.    





4.  gross negligence:  Fails to  perceive a substantial risk of 



non consent.  (most cases)




d.  Competency:  If the D did not know of the facts and existance of 


the reasonss why the victim lacked th capasity to give consent, it 


is an faffirmative defense and the D won’t be guilty of rape.




d.  Grading:  There only used to be first degree rape with harsh 


punishments this could account for the lack of convictions.  




e.  Problems - the harm is the same no matter what the man 


thought.  



5.  Marital Exemption:  Traditionally men were free to rape their wives.



Still it is the law in 40 states and at common law that a husband can not 

by guilty of rape if he foces his wife to have sex.




a.  Policy reasons





1.  implicit consent





2.  woman as propery





3.  protection as marriage





4.  protecting the husband in divorce





5.  difficulty of proof.

IV.  Anticipatory Crimes


A.  Attempt

Generally need mens rea plus some actus rea.  



1. NYPL:  110:  With intent to commit a crime, one engages in conduct 

which tends to effect the commission of such crime.  It is no defense 

that under the attendant circumstances the commission of the crime is 

factually or legally impossible.



2. MPC:  D acts with the culpability otherwise required for the 


commission of the crime.  Must take a substantial step which 


corroborated the firmness of the D’s criminal intent.  



2A.  CA Code:  A person commits an attempt when, with intent tocommit a 

specific offense, he does any act which constitutes a substatnial steop 

toward sthe commission of ttaht offense.  



3.  Mens Rea 




a.  Usually, only encompasses purpose, not knowledge or 



recklessness.  Majority rule.  See NYPC 110. Must have intent to 


produce the proscribed result even when recklessness or a lessor 


mens rea would suffice.  Most states say this.  





1.  Policy Reasons






a. We do a lot of acts that create risks and are 





dangerous, can’t punish for all






b.  It is not  proportional to have same intent, we 




would scoop to much into a crime.  This is why we 




can’t make reckless driving into vehicular 





homicide.






c.  There is no harm, so we don’t feel as retributive.   




We only want’ to punish intentional acts.  






d.  There is a crime of reckless endangerment to fit 




examples that are not attempts. 






e.  We are really punishing the intent not the act.





2.  Example:  A D shoots into a crowded room. If no 




one is killed they can’t be convicted of murder because 



they had no intent to kill.  





3.  People v. Kraft:  Kraft attempted murder where D shot at 



people that he had driven off the road.  D claimed that he 



only intended to scare and thus lacked the required mens 



rea.  There was an error in the jury charge which used 



knowledge standard instead of an intentional standard. 





4.  MPC allows a knowledge component.  You don’t have to 



actually infer the intent.  Kraft would have been an 



attempt under this law.  





5.  Exceptions: Few courts have ruled in different ways, 



Chevy says these are wrong and no proportional.  





1.  Thacker v. commonwealth:  Man tried to force 




way into woman’s tent and in anger shot through 




tent.  Can’t be attempted murder because depraved 




indifference is not specific intent. 






2.  People v. Thomas: D shot man he believed to be 




fleeing rapist.  He was convicted of attempted 




reckless manslaughter.  Extended attempt 





culpability to include reckless behavior.  This is an 




odd result because it wrecks sense of proportionality 




between punishment and act.






3.  R v. Pigg: 1982 page 631. D convicted of attempted 




rape where he either know that woman did not 




consent or was reckless as to whether she did.  




Mistake of fact as to consent will still be a defense to 




attempted rape.  (except statutory rape) The result in 




this case may have been fine with the majority 




posssition, the principle may just be different.




b.  Must be clear what crime you are intending to commit.  It is a 


specific intent crime.  Must intentionally commit the acts that 


constitute the substantial step, must commit the act with the 


further intention of committing the target offense.  





1.  If a person is shooting a man walks by and almost shoots 



him, there is no attempt because there was no intention to 



hurt.  




c.  Need the intend to attempt, but the same mens reas as the 


crime.  





1.  HYPO:  If Mandufano knowingly gave sugar and tald to 



the adgent he could not be convicted of attempting to sell 



narcotics because he didnot intend to sell narcotics.  Put if 



he went to his drug dealer and got the sugger and talk 



unkowingly he is guilty of an attempt.  Because he tried to 



sell narcottics but was unable to.  




d.  Result v. Conduct crimes:  killing someone rape are result 


crimes.  A conduct crime is reckless driving.  For conduct crimes 


the same standard is in effect.  You can be arrested for attempted 


reckless endangerment.  




F.  Some strict Liabiltiy crimes punish for mens rea other than 


intent.  The SL goes to the atendent circumstances, not the act. 



1.  Example:  Statutory Rape, need to intent to have sex with 



a minor.   Need to intent to have sex with a woman under 



16.  Example would be mom comming home and seeing 28 



year old Jonny in bed with her daughter who is 13.  






a.  Policy rdeasons:  Affirm th enorm to protect the 




status of young peoplke, strech the policy to protect 




young people.  




G.  Most SL crimes only punish for intent.  So you can have an 


attempted strict liablity crime.  Youn need to intend to commit a 


non intent crime.  This rarely happens. 





1.  Hypo:  Park brings in a box of rats.  It is intentional. 



4.  Actus Reus:




a.  Common Law:  An act in furtherance of the intent which goes 


to the completion to the crime.  The traditional rule, as opposed to 


mere preparation.  The accused must have taken the last final 


step, as opposed to mere preparation.   





1.  Question of degree -- what is a substantial step.






a.  Example:  No attempted murder without loading a 




gun.






b.  Common wealth v. Peaslee page 633:  Common law.  




D arranged to commit arson in his building but 




never went through with it. We don’t punish first 




steps.   






c.  People v. Rizzo:  D tried to pull robbery and 




hunted for payroll clerk who they could not find.  




Not an attempt because it is unclear whether they 




would have abandoned.  Only preparation, no 




substantial step.  If they knew where he was it 




would have been a stronger case.  





2.  Once you pass a certain point, renunciation only 



mitigates.  





3.  There are the competing policies, fear of convicting one 



who would of repented was dominant in the common law 



vs.  preventing crimes which is more dominant in modern 



law.  





4.  To constitute an attempt, the first steop along the way is 



not necessarily suffiecient  and the final step isn’t 




necessarily required.  




b.  Modern rules:




1.  NY 110.00”  The person engages in conduct which tends 



to affect the commission of such crimes.  Argue that it 



tends to affect the commission of the crime in the middle.  





2.  MPC:  Substantial step rule, the act must be a substantial 



step and it must strongly demonstrate a criminal purpose.  



The step must strongly illustrate criminal intent.  Must be 



clear that you wasn’t to do something.  






a. US v. Buffingotn (652) Unsure of whether Ds were 




going to rob federal bank, state bank, or marker. 




Conduct fell short of constituting a substantial step 




toward the robbery.  Actual conduct didn’t no cross 




boundary between perpetration and attempt.  






b.  US v. Joyce:  page 653 D and undercover cop 




haggle over sale of cocaine and D does not buy and 




leaves.  There was no substantial step because D 




didn’t show the money.  





3.  There is a tension between preventing crimes 



and allowing people a change to repudiate.  The 

police don’t want to wait and put other sat risk in order to arrest.  



4.  The crime itself, once committed merges with attempt.  



5.  Punishment:  An attempt to commit a felony is often graded as a 

felony, but usually at a lesser level than the target crime.  Usually the 

punishment for an attempted offense that carries a death sentence or 

life in prison is a certain number of years.  The penalty for an attempt 

to commit less serious felonies are usually punished at one half of the 

maximum allowed for the completed crime.  




a.  justification:  





1.  The harm for the crime is less





2.  Social crimes are less important,




b.  Policy Reasons





1.  Retribution:  A social harm occurs when one endangers 



another.  No concrete harm but a social harm





2.  Deterrence:  Prevent people from completing there 



efforts.  Wasn’t to give people incentives not to finish 



their crimes.  Give the police a way to arrest early.






a.  MPC says give smaller sentences because it wont 




deture specifially anyway.  People believe that they 




will be sucessful






b.  Utility, an attempt is simply conduct target at the 




commission of a crime.  Everyone thinks they will 




succeed so it doesn’t work.  but, an actor may assume 




that she will be successful.  She may figure that if 




she fails in her attempt it will be because she 




executed the crime poorly.  She may be detoured





3.  Incapacitation:  Any one who attempts is dangerous and 



needs to be incapacitated.  




c.  At common law, all attempts were misdemeanors.  




d.  If D successfully commits the attempt, the crime merges with 


attempt.  Mention that the attempt merges with intent. 



6.  Defenses:




a.  Impossibility:  all states NYPL 110.10.  If it was impossible to 


commit he crime but would have been possible had circumstances 


been as the D believed.  





1.  Inherently ridiculous stuff:  witchcraft, not an




b.  Renunciation.  40.103  NYPL   Intent must change.





1.  Renunciation not voluntary if motivated by belief 



circumstances exist which increase change of detection or 



which may render commission more difficult.  





2.  Affirmative defense that voluntary and complete 



renunciation that D avoided commission of the crime and if 



mere abandonment of the crime is not sufficient to 




accomplish such avoidance then the D must take further 



and affirmative steps to prevent the commission.  




3.  US v. Jackson:  Page 647:  Attempted robbery which Ds 



abandoned when they saw undercover agents.  Ds took a 



substantial step toward commission of the bank robbery. 



Fear of being caught is not renunciation.  No 




renunciateion because intent is the same.




c.  Renunciiation was not a defense at common law because D 


could lie about it.    This is why now it is an affirmative defense, 


and D must show by a perponderance of evidence that they 


renounced.  


B.  Other Anticipatory Crimes:



1.  Acts which are legal but which may be made illegal by being 


combined with a bad intent.  (Enter school with the intent to disrupt).  




a.  State v. Young:  D ented a school and took a leadership role in a 


student protest.  He was charged on a statue that dealt with 


persons entering a school with the attempt to disrupt class.  The 


court said that a jury could reasonably find taht he had the intent  


The blameless act can be punished because of a forbidden pupose.  




Page 639.




b.  vagrancy



2.  Acts which are illegal but are made worse through combination with 

a worse intent:  Burglary (enter house, intent to steal) type crimes:  is 

crime that punishes D before he could be punished for attempt to 

commit the felony in the house.  (Forget assault stuff in Dressler under 

attempt)



3.  Preparation (innocent act) + bad intention = punishable crime 

because it is considered potentially dagnerous



4.  Examples of preparatory crimes




a.  burglary




b.  attempted burglary




c.  assault 




d.  vagrancy




e.  jostling


C.  Solicitation: 



1.  Generally:  Occurs when a person  intentionally invites, requests or 

encourages another to engage in criminal conduct.  




a.  asking another person to commit a crime is not an attempt.




b.  Policy:  it is anti social enough to be worth punishing.




c.  Punishment





1.  In NY it is lessor than attempt





2.  Other states punish it as either at level of attempt or 



sometimes even at level of completed offense if non 



misdemeanor or felony.  For misdemeanor or felony it is 



usually as mis.





3.  MPC strict in punishing at level of crime solicited as it 



were completed



2.  Mens Rea:  Specific Intent Crime




a.  To be guilty of solicitation D must intentionally commit actus 


reus of offense, invite to engage in crime, with specific intent 


that the other commit the crime that is solicited.





1.  Ex:  D not guilty if she jokingly suggests x commit crime 



even if x takes D seriously and does it. No intent.



3.  Actus Reus:  occurs if by words or action invites, requests or 


encourages a 2nd person to commit the target crime.  The crime is 

complete when D asks a person to commit crime with the requisite mens 

rea.




a.  No act in furtherance is required by either person, actus 


complete after communication with requisite intent is completed




b.  Example:  Solicitation occurs even if X refuses or agrees to but 


does not intent to commit the crime.




c.  At common law of D asks X to commit a crime but X can’t 


understand (is deaf . . .)  D could only be prosecuted for an 



attempted solicitaton, 





1.  The MPC explicilty prohibits uncommunicated 




solicitations.  



4.  Innocent Instrumentality:    D asks X to get his TV when it is really a 

third party’s.  X is innocent instrumentality.  Here there is no 


solicitation.  If x did get TV, D would be personally guilty of larceny as if 

he had used a rope to pull TV out of the house.  D is personally 


committing the crime.  




a.  To be an innocent instrumentality one must be innocent of the 


actual crime because of lack of mens rea due to incapacity, 


mistake of fact, or whatever.



5.  Solicitation related to other crimes.




a.  Independent basis for criminal liability is its own crime.




b.  Also basis for accomplice liability one way you can be held 


accountable for criminal acts of someone else.  Solicitation 


merges with offense, so one is not guilty of solicitation but of the 


actual offense, once it is carried out.  A person who solicits the 


commission of a felony or cetain serious misdemeanors is guilty 


of that offense or an attempt of it if the solicited party commits or 


attempts to commit the crime.  So, is one never guilty of 



solicitation unless the other person does not attempt or carry out 


the crime? 





1.  D solicits X,X murders V.  D will be convicted of murder 



under accomplice liability and not of the solicitation 



because the latter merges with the murder.  



6.  Solicitation and attempt




a.  Rarely will a solicitation be the substantial step required for 


an attempt.  Usually it is just its own crime when completed crime 


has not been committed.  (4 dift stds applied by courts under 


dressler.)



7.  MPC:  Retains broader common law formula:  it is a crime to solicit 

any offense, not just serious misdemeanors and felonies.  It applies to 

attempts, and the relationship of the solicitor to the solicited party need 

not be that of accomplice and perpetrator.  




a.  recognizes a solicitation to commit an attempt:  D solicits X to 


put hand in what he knows is empty picket of V.  X will be guilty 


of attempted larceny.  D won’t under all but MPC be guilty of 


solicitaton because she lacked  the requisit specific intent for 


solicitaton, no solicitation cause no intent that X commit a crime.  


But, under MPC D is guilty of attempted larceny.  



8.  NY 100:  Solicit with intent that another person engage in conduct 

constituting a crime (5 degrees according to age and type of felony).



9.  Defenses:



a.  Renunciation (NYPL 40.10 4) For solicitation, where crime is 


not committed, it is a defense with voluntary and complete 


renunciation when crime is prevented. IT must be voluntary and 


complete.  For solicitation and conspiracy, you must actually 


prevent the commission of a crime.   This is an affirmative 


Defense.  D has the burden of proof beyond a preponderance of 


the evidence, a supposed to P having to prove guilty beyond a 


shadow of a doubt.  





1.  MPC: Complete and voluntary renunciation and either 



persuades or prevents solicited party from committing 



offense that is affirmative defense.




b. No Defense:  NYPL 100:15  If the other person couldn’t be guilty 


of the crime (because of criminal irresponsibility or other legal 


incapacity or exemption or to unawareness of the criminal 


nature of the conduct solicited or of the D’s criminal purpose or 


to other factors precluding mens rea), it doesn’t matter, you are 


still guilty.




c.  No defense that the pereon didn’t commit the crime.  


C.  Facilitation:  Intentionally do something believing it probably at you will 
aid a person.



1.  Example:  Sell gun to unlicensed buyer who tells you that they are 

going to kill someone.  When believing it probable that she is rendering 

aid to a person who intends to commit a crime and which in fact aids 

such a person in a crime.  



2.  NYPL 115:  Believing it probable that oone is rendering aid, actor 

engages in conduct which provides such person with means or 


opportunties for the commission of the crime, and which in fact aids 

such person to commit the crime




a.  No Defense when person facilitated was not guilty of 



underlying felony.  




b.  MPC: Expands aid or attempt to aid.  



4.  Renunciation:  NYPL 40.10 (2)




a.  Affirmative defense prior to commission of felony which she 


facilitated, D made a substatnial effort to prevent the commission 


of said felony.  


D.  Complicity:  Aiding and abetting/ Accomplice liability.    Acting with the 
intent for the crime being committed and you actually aid the 
person.  An accomplice is not guilty of an independent offense of “aiding and 
abetting” but is held accountable for the conduct of the primary party with 
whom she associated herself.   

 

1.  NYPL:  20  Criminal Liability for conduct of another:  When one 

person engages in conduct which constitutes an offense, another 

person is criminally liable for such conduct when action with the 

mental culpability required for the commission thereof she solicits, 

requests, commands, importunes, or intentionally aids such persons to 

engage in such conduct.  




a. NYPL:  Must actually Aid



3. MPL:  MPC get close to aiding.



4. Old Terms:  




a  Principle in the first degree:  an actor who does the crime or 


gets someone to do it.  “Go get my TV”




b.  Principle in the second degree:  Constructively present and 


intentionally aids in the crime.  The get away driver





1.  Constructive presence:  situated in such a way as to be 



able to help principle during the actual commission.  






a. the get away driver, look out, acts pursuant in 




common deign with one who commits the crime.




c.  Assessory  before the fact:  intentionally helped become the 


crime but not here during the crime  (could be a solicitor)




d.   Assessor after the fact:  Intentionally help  a felon avoid 


arrest or conviction.



5.  Modern Statutes:  Principles in the second degree and assessories are 

combined with assessories before the fact.  The are now known as 

accomplices and are punished as if they were principles.  Assessories 

after the fact are not guilty of the offense.




b.  Modern statue Accomplices:  Generally (including NY at 20.)





1.  Generally:  F is an accomplice of P in the commission of 



an offense if she intentionally assists P to engage in the 



conduct that constitutes the offense with the mens rea 



necessary for the offense.






a.  assist = abetting, encouraging, soliciting, 





advising, procuring, etc.






b.  Liability:  Remember the secondary part is not 




guilty of an independent offense of “aiding and 




abetting” but is held accountable for the conduct of 




the primary party that S intentionally assisted.





2.  Hypo:  Secondary party can be guilty of murder, 




attempted murder, but if P doesn’t’ go far enough to 



constitute an attempt secondary has no liability.  




c.  Mens Rea:




1. Generally:  Specific intent crime:  Must have 1) at least 



same mens rea as that required for the  crime, plus 2) the 



specific intent to aid the principle.






a.  Hicks v. US page 682:  D present when friend shot 




victim.  If it could be proven that D enocuraged 




friend, he could be guilty .  Mere presence does not 




establish aiding and abetting, aider must intent to 




offer some aid.





2.  intent to aid crime:  must have acted with purpose 



affirmative desire that acts have an encouraging or 



assisting effect.  Must have a strong concious intent that 



the crime be committed.






a.  unintentionally aiding is not enough.  (bank 




robber is helped accidently by person behind)






b.  Purpose v. Knowledge.







1.  There is no aiding and abetting unless on 





participates in venture and seeks that v 





entire succeed 








a. Gladstone did nto have pot so he gave 






undercover cop the name address of 






anther dealer.  Knowledge that you are 






rendering aid is not enoug. 







Asssociation with venture goes toward 






proving intention to aid but it is not 






enough.  Could be facilitation in NY.  It 






would not be proportional to say that 






communication is the same as sale.







2.  Should knowingly facilitating the 






commission of a crime be sufficient for 





complicity absent true purpose to advance the 





crime?








a.  Answers go both ways:  Most courts 






hold that a person is not an accomplice 






unless she acts with the purpose that 






the crime be committed.  








b.  NY Compromises:  makes aiding 






without true purpose a separate crime 






with a lesser penalty that the crime 






aided knowing as criminal facilitation 






(NY 115).  









1. Must believe that it is 








probable that he is aiding the 







crime.  









2.  NYPL 115:  Criminal 








Facilitation.   When believing 







it probable that he is rendering 







aid to a person who intends to 







commit a crime, he engages in 







conduct which provides such 







person with means or 








opportunity to commit a crime, 







he engages in conduct which 







provides such persons with 







means or opportunity for the c







ommission thereof and which in 







fact aids such persons to commit 







a felony.  








c.  Fountain:  Crime serious enough 






(murder after supplying knife) that 






knowledge that murder would occur 






was sufficient here.  Prisoner gave 






knife knowing that it would be used to 






attack guard.  Posner sayd that if one 






knows the risks involved it is aiding.  






As the crime gets more serous and 






dangerous, than knowldge becomes 






sufficient.  






c.  Feigning Accomplice:  If S intends to help P 




commit crime but does not himself intend to commit 




the crime he lacks second mens rea and is not 




guilty.







1.  Call cops, drug store hypo 






d.  Reckless Negligent crimes:  A preconcieved plan 




is not necessary.  







1.  S encourages P to drive really fast, car out 





of control kills V involuntary manslaughter.  





How can one intent a negligent crime?  That 





would be murder?  But no murder was 






committed and S can’t be convicted of greater 





crime than P committed?






2.  The majority of courts hold that S can be 





liable because S had intent that the conduct 





be done (driving car fast, though not the 





final crime) and had mens rea sufficient for 





actual crime recklessness or negligence.







3.  Unintentional Crimes:  To aid one you need 





the mens rea for the unintentional crime and 





you must intend to aid its commission.







4.  State v. McVay:  page 695.  D hired and 





counseled captain of steamship who 






negligently opersated the steamship causing 





an explosion in which many people died.  D 





can be guilty of aiding and abetting a 






negligent crime of manslaughter.  Proper 





conviction because he intentinally rendered 





aid and the state of mind was as great as the 





actors.  Must be aware or should have been 





aware of the defects which caused the harm.  







5.  People v. Abbott page 697.  Two guys 





involved in a drag race, one killed a woman 





and both found ghuilty of criminally 






negligent homicide.  Intention to aid and the 





aiding actually occured.  The intent was to 





take part in the drag race. 






e.  Strict Liability Crimes:






1.  Theoretically, all you need is intent to aid 





in commission of offense.  Because S.L. crimes 





have no mens rea you need no additional 





mens rea.







2.  Strict liability crimes:  To aid SL crime you 





must know that the act or actions are going 





on, even if you don’t know it is a crime.  Here 





knowledge that you are aiding is enough. 








a.  Johnson v. Youden (693) Ds charged 






with aiding and abetting a builder by 






selling houses at over legally price 






controlled prices.  Builder knowingly 






and intnetionally set the price too 






high.  Before one can convict of aiding 






and abettting, he must at least know 






the essential matters which constitute 






the offense.  







3.  If you can prove accessory to the felony, 





assessory to the murder can be charged.







4.  In NY there is a police exemption, (NYPL 





35.05) if undercover agent, no liability as an 





accessory.  







5.  There is accessory liabilty for assaulting 





an officer.  Don’t have to know that they are 





an officer.  Just have to know about the 





assault.  






f.  Mens Rea as to Results.







1.  Traditional Rule:  accomplice liability 





exists for all probable consequences







2.  Minority Rule:  liability limited to 






contemplated crime.






g.  Mens rea as to attendant circumstances:  Mistake 




of fact is a defense as usual.







1.  If you are ignorant of overall facts 






required to make it a crime (Ex:  intent to help 





someone get into open window thinking it is 





their own house when it really isn’t.  S 





intended to aid the conduct but no mens rea as 





to the actual crime of trespass or burglary.




D.  Actus Reus:





1.  Generally: the acuts reus in assistance in the 




commission.






a.  can by physical (furnishing car, look out) or 




psychological (inciting, encouraging, soliciting)







b. can be passive.  Example, Nusbalm Stienburgs 




girlfriend failed to care for the child after he beat 




the child up.  





2.  Quantity of Assistance:  General Rule:  S ins not an 



accomplice of P unless conduct in facts assist P to commit 



the crime.






a.  Once it is determined that S aided P, the degree of 




aid is irrelevant, no matter how trivial.






b.  “but for” cause is not needed.  facilitation’ which 




may have had almost no effect can lead to 





accomplice liability.  ( you did help but your help 




was not needed in order for the offense to be 





committed.







1.  Wilkox v. Jeffery page 705.  Wilcox was the 





owner of a jazz paper.  He picked up an 





unauthorized ailen from the airport, and 





went to his show, knowing that he was 





performing illegally.  He didn’t protest the 





show. He was found gulty of aiding and 





abetting.  One policy concideration is that it is 





unrealistc to have the entire croud tried.  May 





just want to limit it to those with a stake in the 





enterprise.  





c.  CAN AID EVEN IF THE OTHER DOESN’T KNOW YOU 




are aiding.  







1.  Attorney General v. Tally Judge page 706.  





Tally intercepted a telegraph warning about 





murderes.  He sent his own telegram to the 





operator telling him not to deliver the 





telegram.  The murder took place and Judge 





was comvicted of aiding and abetting.





3.  Attempts






a.  you can be convicted of helping if committer 




fails to commit the crime or even if committer 




hasn’t tried yet (facilitation).







1.  Policy:  Specific intent nature of being an 





accomplice is what matters.






b. If  not act or attempt occurs the aider is not guilty






c.  MPC:  do not have  to actually aid, just yell 





encouragement to deaf is enough







1.  Where act not committed accomplice may 





be charged with attempt if actor attempted 





(no attempt even = no liability as with most 





states)





4.  Attempt and Casualty compared:  






a.  Under non MPC statues (NY) you can be guilty of 




aiding an attempt but not attempting to aid because 




you must in fact aid the principle.






b. under MPC you can be guilty of both aiding an 




attempt and attempting to aid (shouting at deaf 




person)





5.  Intent to help, but don’t help at all because none was 



needed that is aiding and abetting (in NY)





6.  If you just happen to be there, intend to help out but 



don’t, that isn’t aiding and abetting. 




e.  Defenses





1.  Legislative Exemption Rule:  Can’t be accomplice if you 



are in a protected class (Ex:  Girl cant’ be accomplice to 



statutory rape)





2.  Abandonment:  NY renunciation 40.10:  if is aff D that D 



withdraws under circumstances of voluntary and complete 



renunciation prior to commission and made substantial 



effort to prevent the commission.





3.  20.05:  Three non defenses to accomplice liability 






a. If principle not guilty due to legal incapacity or to 




unawareness of the criminal nature of the conduct 






b.  principle not convicted 






c. crime can only be committed by certain class  of 




which principle is not a party.  



3.  Renunciation:  Must make a substantial step to stop the crime.  



4.  Distinction between mens rea of aiding and abetting and attempting




a.  attempt





1.  crystallized purpose with some material elemnt of crime





2.  aiding and abettign






a.  no crystallized pupose for the underlying crime





3.  policy






a.  Proportionality problem between act and 





punishment.

D.  Conspiracy



1. Definition:




a.  NYPL:  105.  With intent that conduct constituting a crime be 


performed, she agrees with one or more persons to engage in or 


cause the performance of such conduct.  (Six degrees depending 


on type of crime and age).  Need an overt act for proof.  





1.  Don’t need to carry out the actual crimes, just need to be 



a part of the agreement.  Example:  In a conspiracy to kill 



someone , only one person is actually going to kill,  But all 



are guilty of a conspiracy of murder.  




b.  Common Law:  agreement by two or more person to commit an 


unlawful act or series of acts, it was only punished as a 



misdemeanor.




c.  MPC:  Agrees with others that they or one or more of them will 


engage in conduct that constitutes such crime or an attempt or 


solicitation to commit such crime.  Or agrees to aid such other 


person in the planning or commission of such crime or of an 


attempt or solicitation to commit such crime.  




d.  It is controversial because





1.  It is vague





2.  Predominantly mental component (punished more for 



what they say or intend rather than what they do.)





3.  Highly preparatory



2.  Rational of Prohibition




a.  Conspiracy as an inchoate offense:  Allows police intervention 


at a much earlier time than is permitted under attempt law.  At 


common law don’t need an overt act.  NY law requires an overt 


act.  But, the act may be wholly preparatory to the commission of 


the target crime.   The mens rea may be inferred.




b.  Special Dangers of Group Criminality:  More people = more 


danger.  More likely they will commit the crime,  will less readily 


abandon.  



3.  Punishment




a.  Common Law and Non MPC:  At common law conspiracy to 


commit a felony was a misdemeanor.  statutory treatment varies.  


Usually punishments vary according to the  contemplated crime.  




b.  MPC:  Subject to punishment at the same level of crime as the 


object of the conspiracy.  




c.  Punishment when target offense is committed





1.  Common Law:  Conspiracy does not merge into the 



attempted or completed offense that was the object of the 



conspiracy.  Thus, can be punished for both the 




conspiracy and the offense.  






a.  This doesn’t deter people from stopping their 




activities before the completion of the crime but it 




deters group activity.





2.  MPC:  Diverges from the common law.  May be 




prosecuted but not convicted and punished for both 



conspiracy and the object of the conspiracy or for an 



attempt unless the object of the conspiracy involved a 



continuing course of criminal conduct.  (One bank or 



many)



4.  Conspiracy:  The agreement:  The actus reus is the agreement.  




a.  In general:  An agreement that does not need to be express.  A 


physical act of communication is not required.  An agreement 


can exist although not all of the parties to it know all of its details 


as long as each party is aware of its essential nature.  Agreement 


must be externalized.  





1.  agreement may be inferred from circumstances.  





2.  usually need some direct evidence of agreement





3.  US v. Alvarez:  Page 792 Conviction of conspiracy to 



import pot at the airbort because D smiled an dnodded an 



agreement was inferrred.  Courts are very loose about the 



agreemetn and will imply from the circumstances.  Did not 



have to know the details of the conspiracy, only that 



something was afoot.  




b.  Distinguishes the agreement from the group that agrees





1.  Conspiracy is an agreement to commit a crime not a 



group of people. 






a. In order to aid and abet a conspiracy X must 




intentionally aid and abet the formation of the 




agreement rather than merely aid the parties once 




they have become conspirators.  




c.  object of the agreement:  The object must be an unlawful act.  


It is enough that the acts contemplated are corrupt, dishonest, 


fraudulent, or immoral.  Shaw v.  Director of Public Prosecutions. 




d.  Overt Act





1. Common law does not require





2.  NY requires an act.






a.  Could be cheering others on.  






b.  Does not need to represent the commencement of 




the consummation of the target offense.  






c.  The overt act does not need to be illegal.  Writing 




a letter, telephone call, purchase of an 





instrumentality, attendance at a meeting.  






d.  The act applies to those who join the conspiracy 




after it is committed.  




e.   MPC:  Broad.  A party doesn’t’ need to agree to commit the 


offense. IT is sufficient that she agree that she or any person 


with whom she agreed would commit the offense or solicit 


someone to commit it.  A person who agrees only to participate in 


an accessories manner in a crime nonethe less is guilty of 


conspiracy.  The object of the agreement must be a crime.  Can’t 


be guilty if only a misdemeanor or a felony in the third degree.  





1.  D1 may be convicted of conspiracy if she agrees with D2 



that D2 will solicit X to steal V’s painting. 


5.  Conspiracy:  Mens Rea




a.  In general:  Common law is specific intent.  A conspiracy does 


not exist unless 2 or more persons intent to agree and intent that 


the object of their agreement is to be achieved.  Thus, a greater 


culpability is sometimes needed than the object crime.




b. special issues





1.  Purpose v. Knowledge  






a.  Usually this issue arises in the countries in 




which a person or business furnishes goods or 




services to another person knowing they will have 




criminal purposes.  







1.  For P:  Society has a compelling interest in 





deterring persons from furnishing there 





wares and skills to those who they know will 





use them illegally.  







2.  For D:  We don’t want to punish the vendors 





of ordinary services.  This is too big a net to 





sweep all in.






b.  Guilt depends on three factors:







1.  Stake in the venture?  







2.  A legitimate use for the goods and 






services?  







3.  Buyer is grossly disproportionate to any 




c.  Knowing usually isn’t enough for a small crime





1.  Lauria:  Page 785:  Telephone service 





which 3 prostitutes used and D knew of theri 





use.  For conspiracy one needs Knowledge of 





the illegal use, intention to further, promote 





or coorerat in the name in the crime. It is not  





conspiracy because, he had knowledge but 





not intent.  knowledge isn’t’ enough for a 





small crime.  The service he is giving them 





isn’t illegal.





2.  mens rea regarding attendant circumstances






a.  Conspiracy is not committed unless the alleged 




conspirators have at least the level of mens rea 




regarding an attendant circumstance required for 




the commission of the target offense.






b.  Does conspiracy require a greater mens re 




regarding an attendant circumstance than is 




necessary to commit the target offense.







1.  US v. Feola:  Page 779:  Conspiracy to assault 





a federal officer where D did not know of 





official statue. Court does not think mens rea 





for the conspiracy has to be higher than for 





the underlying crime.  Strict Liability 






awareness of the official identity of the V is 





irrelevant. There was an underlying wrong 





and the identity of the officer didn’t alter the 





legal character of the acts agreed to.  








a.  Feola can be distinguished from 






Crimmis because there was an 







underlying wrong  and it was 







“jurisdictional”  or the circumstances 






that the victim was a federal officer 






performing his official duties provided 






the federal courts with jurisdiction to 






prosecute what would otherwise be 






only a state or local offense.  







2.  Crimmis:  Posner and stop light?







3.  Powell:  agreed to accept bids for a 






charitable institution and did.  Statue to 





advertise and they didn’t. They were charged 





with conspiracy.  Against Conspiracy: 






Planning something which is not wrong but 





is made wrong for regulatory reasons doesn’t 





seem to be a crime.  For Conspiracy: To force 





them to advertise to make them more careful.  





It is wrong to fail to do this.  it hurts the body 





politic.  Why shouldn’t’ it be punished as well.  







Strict liability:  This is an odd thing to punish 





because it is hard to agree to do an illegal act 





that you don’t know is illegal.  






c.  Ds must agree to do more than the SL act but it 




could be that no more is required than aidding.  (i.e.:  




know the fact stuff to make up the crime and then 




agree Yoden.  




c.  MPC: Not guilty unless they acted with the purpose of  



promoting or facilitation the of the object of the conspiracy. 



6.  Parties to a conspiracy





a.  the issue: Is the one conspiracy involving many D’s or 



multiple conspiracies involving fewer persons involved.  




b. why it matters





1.  The crime, the object of the conspiracy, does not have to 



be completed or attempted.





2.  Liability for conspirators.  They are agents of one 



another, CO conspirators are partners.





3.  In the federal system there are consecutive sentences





4. Rules of hearsay evidence.  Everything said or done can 



be used in evidence against them.  It allows out of court 



admission by D may be introduced at the trial of D through 



the hearsay testimony of W, someone to whom D made a 



statement.  Out of court statement of a conspirator made 



while she was participating in the conspiracy may be 



introduced in evidence against the other conspirator.  






a.  Bruno an out of court statement made by a NY 




retailer could be introduced into evidence against 




the importers, middlemen, retailers, and every NY 




retailer.  






b.  A statement by D1 to W that she and D2 murdered 




V may be introduced against both D1 and D2.  





5.  Liability for Target Offenses:  A conspirator is guilty of 



every offense committed by any other conspirator in 



furtherance of the conspiracy.  






a.  Kotteakso:  If prosecutor could treat the 32 Ds as 




parties to a single conspiracy, each would be 





convicted of 31 separate counts of fraud.    If the 




loan recipients theory were correct each or them 




would be guilty of only a few fraudulently obtained 




loans, those obtained by the group composing the 




smaller conspiracy.  







b.  Bruno:  Under the prosecutor’s theory NY 





retailers could be held liable for every drug sale on 




the TX Louisiana streets.  Their liability would be 




considerably less if there theory of the structure of 




their conspiracy were correct.   





6.  Overt act requirement:  The act of one conspirator in 



furtherance of the conspiracy renders a prosecution 



permissible against every party to the agreement.  




c.  structure of conspiracies






1.  Chain conspiracy:  can draw everyone else’s stuff in.  



You can be convicted of consecutive offenses.






a.  Parties are linked together in a linear fashion.  




Often occur in business like criminal activities.  






b.  Example:  Bloomenthal page 804:  Illegal liquor 




distribution was set up to sell wiskey at below price 




level.  The court held taht ther was a single 





conspiracy even when some D’s didn’t know who 




the other parties were but they had reaon to believe  




they existed because of the type of crime being 




committed and they were working towards a 





common single goal. 





2.  Wheel conspiracy:  it is worse for the main person.  



There are many conspiracies present.






a.  There exists a single conspiracy that includes the 




hub and all of the spokes there must be a rim around 




the wheel.  If this can’t be done, there are multiple 




conspiracies, rather than one.  






b.  Example:  Kotteakos:  Page 803.  D was a broker for 




31 people in obtaining fraudulent loans from the 




government loans.  The 31 people were not all 




connected.  They were not guilty of one single 




conspiracy.  





3.  Chain Wheel Conspiracies:  It is not unusual to find that 



the structure of the conspiracy looks neither like a wheel 



or a chain but a combo.






a.  Example:  Bruno.  Page 808.  Conspiracy to import 




sell and possess drugs with smugglers, middlemen 




and retailers.  Conspirators at one end to the chain 




knew of the other end and knew that the business 




could not stop or begin with theri single 





undertaking.  But  there existed at least two 





geographically disparate groups of retailers.    The 




court ignored this aspect and said when some D’s 




don’t know who the other parties are but know they 




exist, they are guilty




d.  Common law





1.  Parties don’t have to communicate.  Blumenthal.





2. A rim around a wheel does not exist unless the P 




demonstrates that the spokes viewed there contacts with 



the hub as part of a plan broader that any individual 



spoke’s relationship with the hub.  






a.  Kotteakos didn’t have this element.  





3.  Chain conspiracies are easier to prove than wheel 



conspiracies because they ordinarily involve unlawful 



plans that can’t succeed unless each link successfully 



performs its responsibilities in the arrangement.  




e.  MPC:  5.03 Scope of conspiratorial Relationship.  If a person 


guilty of conspiracy knows that a person with whom she 



conspired to commit a crime has conspired with another person 


to commit the same crime, she is guilty of conspiring with such 


other person or persons whether or not she knows their identity



7.  Object of a conspiracy




a:  issue:  How do we determine wheter a conspiracy involves 


multiple unlawful objectives?




b.  Common law:  





1.  The fact that the parties planned to violate  various 



substantive laws or to violate a specific law many times 



does not in itself convert a single conspiracy to a multiple 



one.  




c.  MPC





1.  5.03.3:  Conspiracy with multiple criminal objectives:  If 



a person conspires to commit a number of crimes, she is 



guilty only one conspiracy so long as such multiple crimes 



are the object of the same agreement or continuos 




conspiratorial relationships. 





2.  Braverman v. US:  Page 810.  Petitoners were indicted 



with others on seven counts, each charging a conspiracy 



to violate a separate and distinct IPS Law.  The court held 



that just because you violate more than one law does not 



mean that there is more than one agreement.  



8.  Defenses




a.  Impossibility:  NYPL 105.35:  NO Defense to conspiracy that 


owing to criminal irresponsibility or other legal incapacity or 


exemption or unawareness of the criminal nature of the 



agreement or the object conduct or odf the Ds criminal purpose 


or the other factors precluding the mental state required for the 


commission of conspiracy one or more of the Ds could not be 


guilty.  





1.  Common law:  factual impossibility is no defense.




b.  Abandonment:  NYPL 40.10:  Must have a voluntary and 


complete renunciation and must prevent the commission of a 


crime.  



9.  Pinkerton Rule:  Federal Law




a. All members are guilty of substantive crimes whether they 


know they took place or not.  




b.  Rejected by NY


D.  RICO



1.  Policy Behind:  




a.  created response to increased sophistication of organized 


crime.  Increases penalties and makes it easier to catch organized 


criminals.  




b.  Chain conspiracy not good enough because could not prove a 


single unified purpose.  It gets rid of the wheel and the chain 


problem.  





1.  It punishes for conducting an enterprise though a 



racket.  





2.  We don’t need to know the connection of parties to one 



another if they are committing component crimes of a 



racket.  That’s all it takes.  They don’t need to be a part of a 



plan.






a.  In Bruno:  Heroin conspiracy.  Could convict all 




of the for running a heroine enterprise.  The 




retailers are committing component crimes of the 




Racket.  



2.  elements




a.  substantive offense, actus reas





1.  Commit two predicate crimes that form a pattern of 



racketeering activity in furtherance, directly or 




indirectly, of an enterprise






a. Enterprise:  includes any individual, partnership, 




corporation, association, or other legal entity and 




any union or group of individuals associated in fact 




although no a legal entity.  





2.  Racketeering - act or thereat involving






a.  murder






b.  kidnapping






c.  gambling






d.  arson






e.  robbery






f.  bribery 






g.  extortion






h.  drugs





3.  Offense must be within ten years on one another





4.  Enterprise can be legal or illegal





5.  Mens rea:  Must know that there is an enterprise and 



must do or aid the substantive crimes with the mental state 



required for these crimes,  It will evolve into an intent.   






a.  It is not about having a plan, it is about running 




an enterprise.  No agreement is necessary.






b.  Beyond the two predicate acts, don’t have to 




prove that there is a pattern.  





6.  You can commit a RICO by yourself. Being associated or 



employed by an enterprise which participates in a pattern 



of racketeering.






a.  Example:  dry cleaning organization you run, you 




go at gun point and get 5 cars a year to transport.  




You have committed a RICO by yourself.  You have 




an enterprise and two acts.  




b.  conspiracy offense





1.  agreement to join an enterprise





2.  conspiracy is most often inferred from doing two 



predicate felonies





3.  20 year penalty





4.  One does not have to commit two predicate acts before 



they can be convicted of a RICO conspiracy.  They just have 



to agree to be in an enterprise that  has done two acts or 



whose goal iswas to conduct or participate in the affairs of 



an enterprise through a pattern of racketeering activity.  




a.  US v. Neapolitan:  He agreed to join the plan.  The enterprise 


was a chop shop operation.  The racket was stealing and 



transporting the cars.  The connection between the racket and 


the cars was that they ran the enterprise and conducted the 


enterprise through transporting goods.  




b.  US v Neapolitan 2:  They sold protection to chopshops.  The 


enterprise was the sheriffs office. They used the Sheriffs office 


as a means to conduct the business.  They two predicates acts were 


aiding and abetting the chop shop.





4.  A person just working in an enterprise won’t be 




enough because they have not agreed to join or contribute 



to the enterprise illegally.  They must know that they are 



in an enterprise profiting off of racketeering.  



3.  Problems




a.  government needs only slight evidence against individual 


once conspiracy is found




b.  Only need intention to join an enterprise, and intent can be 


inferred



4.  Mistake of law is no defense.  

VI.  Defenses


A.  Justification



1.  Self defense




a.  General





1.  Reasonable belief of harm





2.  imminence





3.  Resistance proportional to threat, necessity





4.  Resistance must be necessary to repel





5.  Odd case based on the general principles.   People v. 



Goetz NY page 1986.  D found innocent of all charges except 



unlawful possession of a weapon.  Overruled lower court’s 



use of subjective believe and used a modified objective 



standard.  Policy.  More fair to take into account the D’s 



background.  These victims died for the behavior of Goetz’s 



past different offenders.  




b.  Subjective - Objective





1. Modified objective standard of necessity in NY after 



Goetz but still controversial:  He must show that a 




reasonable person in his situation would have believed 



that it is necessary to use force.  





2.  (847) Pro subjective:  No reasonable people in there 



situations, limbic system takes over





3.  Pro objective:  needs some limits - paranoia as a defense




c.  MPC:  has an imperfect self defense standard which permits 


mitigation if there was an unreasonable belief of harm instead of 


a complete defense.





1.  Can only get convicted if your belief is reckless 




or negligent




d.  Affirmative Defense




e.  NYPL:  35.10 





1.  Use of physical force is allowed when  to the extent she 



reasonably believes such is necessary to defend herself or 



another from a reasonable belief of imminent use of 



unlawful physical force unless 






a.  actor was the provoke with intent to cause 




physically injury.  






b.  Actor was the initial aggressor, 







1.  justifiable if she has withdrawn and 





communicated that withdrawal.  






c.  Force involved is unlawful combat by agreement.  





2.  Cannot use deadly force unless






a.  reasonably believe that other person is using or 




about to use deadly force







1.  retreating








a.  know that you can with complete 






safety to herself and others








b.  no duty to retreat, if in own home 






and not initial aggressor or a cop or 






assisting a cop






b.  Reasonably believe that another person is 




committing or attempting







1.  kidnapping







2.  forcible rape







3.  forcible sodomy







4.  robbery






c.  reasonable believe of a burglary.  




f.  Deadly force:  General Principles or common law





1.  Deadly force;  Force likely to cause death or grievous 



bodily injury.  





2.  common law:  D is justified in using deadly force if D is 



not the aggressor and she believes that such force is 



necessary to combat imminent, unlawful deadly force.   Has 



both proportionality and necessity. 






a.  based on reasonable appearances, reasonable 




mistake of fact is allowed.






b.  D can’t be the aggressor in the conflict.  An 




aggressor is a person whose affirmative unlawful 




act is reasonably calculated to produce an affray 




foreboding injurious or fatal consequences.  







a.  some courts allow D to shift the status of 





aggressor if she used non deadly force in 





aggression and the V responded with deadly 





force







b.  can stop being the  aggressor by verbally 





communicating your wish to withdraw.   




g.  Deadly force:  Rational of the defense:  If someone is going to 


die it should be the aggressor rather than an innocent victim.  




h.  Imperfect defense of self defense:  some courts allow a 



mitigation from murder to manslaughter if a D unreasonably 


believed that she had a right to self defense.  




i.   Non deadly force:  D is justified in using non deadly force if D 


is not the aggressor and they reasonably believe that it is 



necessary to do so. 




j.  Defense of others:  Should the D be regarded as standing in her 


own shoes or in the shoes of there person in whose defense she 


acted?  Is the D exculpated if she reasonably believed she had to 


attack in order to save the person she reasonably took to be the 


victim?





1.  States are divided





2.  People v. Young:  Page 874 1962. D came upon two men 



beating a third and believing the youth was being 




unlawfully assaulted he intervened, older men were the 



detectives making a lawful arrest.  The NY court of appeals 



said that he acted in the victims shoes.  One who goes tot 



the aid of a third person does so at her own peril.  The NY 



legislature overturned, in NY the it is a reasonable believe 



standard as D saw the events.  




k.  The risk of injury to others.  Courts are divided if one is 


criminally liable for the  accidental killings of others in the 


course of self defense.  





a.  People v. Adams 1972:  Court held that D is not liable if in 



attempting to defend herself she unintentionally kills or 



injures a third person.  





b.  MPC:  If the death of the 3rd party took place 




negligently or  recklessly they can be prosecuted for 



reckless or negligence towards the innocent person.




l.  The innocent aggressor:  One is justified in so far as to repel 


the attack.  It is not a crime to safeguard an innocent person.  


MPC




m.  Burden of proof:  Most states place the burden on the 



prosecution to disprove self defense beyond a reasonable doubt.  


Ohio says the D must probe self defense by a preponderance of 


the evidence.  



2.  Battered women




a.  General Issue:  a battered woman is a woman who has 



been physically and or sexually abused by her mate for a 



period of time, usually who is not about to attack her at the 


time of the homicide.  The man may have made an 




innocent movement that she perceived as an aggressive 



act or D may kill him in his sleep.





1.  Evidentiary controversy:  D wants to introduced 




evidence that she suffered from the battered wife 




syndrome:  This evidence is about couples in abusive 



relationships who go through phases, starting with 



minor incidence, escalating to the acute battering 




incident followed by a time when the abusive male 




express love for the woman.  She has learned 




helplessness and at  the time of her homicidal act 




she believes that her mate can kill her at any time 




and escape is futile.  






a.  This evidence supports her claim that she 





acted like a reasonable battered spouse by not 




leading.






b.  EED






c.  Self defense






d.  obstacles:







1.  New scientific theory







2.  Not relevant unless the court is 






willing to include the D’s subjective 






characteristics as a battered woman.  





2.  Broader question:  May be saying that the abused is 



justified in killing her abuser or that the abused should be 



excused because she unreasonably believed that she was 



under attack or that she suffered temporary mental 



derangement.  





3.  State v. Kelly:  Page 858.  NY 1984 D stabbed husband to 



death while fighting on street.  She was allowed to 




introduce evidence of the battered woman’s syndrome to 



show why she stayed in the relationship.  






a.  Evidence rules







1.  must be a subject matter beyond the 





understanding of the average juror.







2. The field testified to must be at a state of art 





such that an experts testimony could be 





reliable.







3.  The witness must have sufficient expertise 





to offer the intended testimony.  






b.  It is wrong that battered women have to show 




why they are still in a relationship, it is usually just 




the threat at the immediate time.  






c.  This seems like a regular self defense case.  The 




threat was imminent.  





4.  The reasonable person






a.  Some think that it is wrong to have say a person 




acting under torture is reasonable.






b.  It is introduced because most jurors think 





battered women who stay are unreasonable.   






c.  The standard of the reasonableness of her 





behavior is based first on her subjective  standard 




or her being a battered woman and then ask was her 




behavior based on her status reasonable.





5.  Problems






a.  Some think this is vigilantism






b.  Not imminent






c.  It will lead to many other justifications for 




killing.







1.  Holocaust syndrome







2.  Victims of other abuse, children






d.  some courts think that the evidence is not widely 




accepted enough.  





6.  Note:  A reasonable woman should not have to retreat 



out of her own home.  




c.  Retreat





1.  Common Law Rules:  






a.  Most jurisdictions hold that if other resorts to 




deadly force, there is no duty to retreat even if you 




can with complete safety.







1.  Reasons:  








a.  It is just not macho








b.  right should never give way to 






wrong








c.  a rule that calls on a person to 






retreat might ultimately result in V 






seeking avenues of retreat that are not 






safe.  





2.  Retreat defeats self defense when in many jurisdictions 



and the MPC






a.  The actor knows she can avoid the necessity of 




force






b.  with complete safety







1.  total circumstances must be considered.  





2.  The Castle Exception:  Do not have to retreat in your own 




home.  Must be in your dwelling, not just your 




property.  



2.  Protection of property




a.  general common law rule:  D is privileged to use force against 


V if 





1.  D is in the possession of real or personal property





2.  V reasonably appears to constitute a threat imminently 



and unlawfully to dispossess D of property





3.  D can use no more force than is reasonably necessary





4.  necessity for the use of force:  D’s use of force to defense 



her property must be necessary, D should not use force 



until she has requested V to desist in actions.  D must only 



use the force necessary to get the property.  





5.  In the home a D has much more freedom to use deadly 



force.  They are based on reasonable believes





6.  Spring guns at common law were allowed if one could 



use them in fact if they were in the dwelling.  




b.  NYPL 35.20  Protection of property





1.  Use of physical force in defense of a premises and in 



defense of burglary





2.  May use physical force reasonably believe such to be 



necessary to stop what you reasonably believe to be a 



crime or an attempted crime damaging a premises





3.  May use any degree of physical force other than deadly 



which she reasonably believes is necessary






a.  Can use deadly force for arson





4.  person controlling a premise may use physical force if 



she reasonably believes another is criminally trespassing.





5.  Burglary you can use deadly force in protection of 



possessed or controlled premise by you or by police 




officers






a.  Interpretation.  Need to be at home and have a 




threat.



c.  MPC requires actual fear that one will hurt you.



d.  People v. Caballos:  CA Page 886 D noticed stolen goods so he set up a 

spring gun contraption to prevent further burglary. 2 guys broke into 

the house, one got shot in the face.  The court said no justification, the 

law only apples to the most atrocious crimes, crimes that threaten life.  

One must respond to a threat that you reasonably believe exists at the 

time you shoot. .  



e.  There is a general folk norm about protecting your home.  People 

who have been brought up on assault charges have generally been 

acquitted.  



f.  Shadow cases:  If you reasonably ly believe a person is an aggressor 

then you have the right to use deadly force????  Shadow is not a burglar 

but a relative or an insane person. 

3.   and law enforcement




a. NYPL 35.30





1.  police officer may use physical force when and to the 



extent she reasonably believes it is necessary.






a. police officer can use deadly force when offense 




committed was a felony or attempt to commit with 




use or attempt to commit a felony involving the use 




of physical force against a person.  Kidnapping, 




arson, 1rst degree escape, 1rst degree burglary, or 




any attempt.






b.  When resisting arrest while armed with a deadly 




weapon.  






c.  To defend a police officer.  





2.  No justification if police officer is reckless with respect 



to innocent people





3.  Person directed by police officer can use same force as 



long as it is reasonably, necessary and directed





4.  private person effecting arrest or preventing escape of 



a person she reasonably believes and who in fact has 



committed such offense may use deadly physical force 



when she reasonably believes it is necessary.






a.  To defend himself or a third parity from 





imminent use of deadly physical force.  






b.  effect the arrest of a person who has murder, 




manslaughter in the 1rst degree, robbery, forcible 




rape or forcible sodomy and who is in immediate 




flight therefrom.  




b.  Common law that was overruled!!!:  A very broad police 



discretion to use deadly force.  Deadly force was permitted if 


necessary to detain a felon.  




c. TN v. Garner SC 1985 limit this approach to when force is 


necessary to prevent escape, when feasible, D warns V or her 


intention to use deadly force, and D has probable cause to believe 


that V, if not immediately detained, poses a significant threat of 


dealt or serious bodily harm to someone.  





1.  Policy:  don’t wasn’t to shoot fleeing felon because 





purpose is prevention not punishment.  





2.  Common law is overruled as unconstitutional as applied 



to all fleeing felons.






a.  cruel and unusual punishment






b.  denies felon due process




d.  Can’t use deadly force to apprehend one who is arrested for a 


misdemeanor.  Durham v. State page 891 ID 1927.  Game warden 


shot fleeing and resisting illegal fisher.  



e.  MPC:  very similar.  



3.  Choice of evils




1.  Necessity defense levels





a.  choice of evils





b.  legitimacy of means




2.  NYPL 30.35





a.  conduct is justifiable when: 






1.  required or authorized by law or performed by a 




public servant in the reasonable exercise or her 




duties or power






2.  lessor choice of two evils







a.  must be an emergency measure




3.  Conduct otherwise an offense is justifiably by reason of 


necessity if without blame in bringing about the situation D 


reasonably believed such conduct to be necessary to avoid injury 


greater than the injury which might reasonably result from her 


own conduct.  





1.  People v. Unger:  D escaped from honor farm because of 



sexual molestation and threat of death, he was free for two 



days.  Conduct otherwise an offense is justifiable  by 



reason of necessity if without blame in bringing about the 



situation D reasonably believed such conduct to be 




necessary to avoid injury greater than the injury which 



might reasonably result from her own conduct.  




4.  Lover camp factors for escape, balancing considerations.





1.  prisoner faced with thereat of death, sex, or substantial 



bodily injury in the immediate future, 





2.  no time for a complaint to the authorities or exists a 



history of futile attempts





3.  no time or opportunity to resort to the courts





4.  no evidence of force used towards guards or other 



innocents





5.  prisoner immediately reports to the authorities when 



safe. 




5.  Can’t use defense because you disagree with the law





1.  US v. Kroncke page 913:  Ds broke into draft office and 



tried to justify actions based on he injustice of the Vietnam 



War and risk of life.  No defense because cannot use 



defense to change law that you disagree with, the good 



trying to be achieved was too attenuated.  




6.  The good trying to be achieved must not be too attenuated.




7.  Threat under penal law usually requires threat of direct and 


immediate peril.




8.  A person can’t be justified in killing as a lessor evil





a.  Regina v. Deadly and Stephens:  each life is valued, no 



legitimate means of deciding who was too die.  





9.  Bisbee Deportation.





a.  response by local police to perceived danger.  




Justification that conspiracy existed and was dangerous.  


B.  Excuses:  Conduct is wrongful and unjustified conduct that causes social harm but for which the actor is not held personally to blame. 



1.  Potentially Full Excuses




a.  Insanity




b.  Intoxication




c.  Duress



2. Partial Excuses




a.  Diminished capacity




b.  EED



3.  Principles 




a.  Deterrence:  There is no specific deterrence by punishing the 


excused but there is a general deterrence.  



3.  Kadish




a.  Excuses:  They are not like justifications, the person didn’t 


justify the actions, they weren’t good.  But the mens rea is gone:  





1.  Involuntary actions:  No control over body movements






a.  destroys actus reus




b.  deficient but reasonable actions





1.  Lack of knowledge (cognitive deficiency)






a.  Sheer accidents or mistakes





2.  Lack of will






a.  Duress






b.  partial excuses







1.  EED







2.  Provocation






c.  Destroys mens rea





3.  Irresponsibility






a.  insanity:   






b.  diminished capacity






c.  destroys mens rea



4.  Duress:  “It overcomes your will.”  The actor makes a choice, but 

claims in her defense that she was so intimidated that she was unable to 

choose otherwise.  




a.  NYPL 40.00:  





1.  In any prosecution for an offense, it is an affirmative 



defense that the D engaged in the proscribed conduct 



because she was coerced to do so by the use or threatened 



imminent use of unlawful physical force upon her 



or a third person, which force or threatened force of a 



person of reasonable firmness in her situation 



would have been unable to resist.





2.  Not available when a person intentionally or recklessly 



places herself in a situation in which it is probable that 



she will be subjected to duress.  




b.  MPC 2.09 





1.  Broader because it does not specifically require






1.  Physical force






2.  imminence




c.  Common law:  Present, imminent threat of bodily harm




d.  State v. Toscano:  Because of threat of harm to him and his 


family he filled out false insurance claims.  Court held that duress 


as his excuse. 





1.  It is consistent with the MPC but not NY because the 



threat was not imminent.  




e.  Problems or criticisms





1.  Maybe the actor does have a choice to call the police or 



use legitimate means to stop coercion





2.  It is very subjective:  Problems are rooted in Psychiatry, 



We don’t know what constitutes overcoming the will





3.  When people are most tempted, the law should speak 



most clearly and emphatically to the contrary.  




f.  Must be actual coercion, the test is if a reasonable person 


would be unable to withstand coerced actions.  




g.  Must balance the possible social harm of violating the law 


with the threatened harm to self or family.  




h. Necessity and Duress:  Page 934.  Necessity can be invoked only 


when a D chooses the lesser evil, while duress can be based on an 


unlawful human threat.  Necessity can be invoked only when the 


actor chooses the lesser evil, necessity can be invoked even when 


the D’s conduct has increased the net social harm.  




i.  Brainwashing:  Patty Herst:  A person’s will is overcome by 


social structure not be threat, no defense.




j.  Milgram test:  With authority people’s wills are easily 



overcome.



5.  Intoxication:  




a.  NYPL 15.25:  Not a defense but evidence is allowed when it is 


relevant to negate an element of the crime




b.  MPC 2.08  Only when it negatives an element.




c.  Common Law:  Intoxication is only a defense when it negates a 


specific intent to do a crime.





1.  Peopld v. Hood CA page 949:  D drunk and assaulted police 



officer.  Intoxication is a defense for a specific intent 



crime but not a general intent crime.   Intoxication 




evidence was not used here.  





2.  This is an odd distinction:  Some specific intent crimes 



have a greater harm than a general intent crime, or a 



harm that is equally as great. D is guilty of rape, but not 



attempted rape, D is equally dangerous in both cases.    






a.  State v. Stasio NJ page 953:  Assault with the intent 




to rob.  Did not allow the evidence of intoxication to 




the jury event though it was a specific intent crime.  




The court did not feel that the distinction was 




relevant between specific and general.  The court 




would not have done the same for premeditated 




murder.  





3.  It might be unconstitutional to not allow intoxication as 



negating the mens rea for a crime.  It would violate the due 



process Clause.  IF the definition of a crime contains a 



mental element the prosecutor is required by the 




Constitution to prove that element beyond a  reasonable 



doubt.





4.  Some states only allow the defense in homicide.  




d.  Burden of proof is on the D.   If the evidence is admitted, it is 


just taken into account.  




e.  Intoxication can aggravate reckless, it does not negate it.  


Stienburg.  But, recklessness requires that you are aware of and 


consciously disregard a substantial risk.  





1.  This is why it was easier to get Stienburg on the murder, 



depraved indifference than on the manslaughter.  




f.  Intoxication is almost always voluntary.  




g.  D’s mind becomes so clouded by alcohol or drugs that she is 


incapable of forming, or does not form, the mens rea of a crime. 





1.  State v. Cameron:  D drunk and hurt people in vacant lot.  



She was found guilty because she was not drunk enough.  



Did not show prostration of faculties.  Evidence of 




intoxication did not go to the jury even though the crimes 



were reckless.  NY allows intoxication to come in for 



crimes above recklessness.  




h.  It is generally not a defense because D’s act of getting 



intoxicated is itself a moral blameworthy course of conduct.  




i.  If intoxication is not allowed as evidence, the jury may convict 


of a smaller crime anyway.  



6.  Insanity:  Person could not have been expected to act otherwise than 

as he did, given his own inadequate capacities for making judgments 

and exercising choice. 




a.  NYPL 40.15:  Affirmative defense, when D engaged in conduct, 


lacked criminal responsibility by reason of mental disease or 


defect.  Lacked substantial capacity to know or appreciate





1.  Nature and consequences of such conduct or





2.  That such conduct was wrong




b.  M’naghten rule:  Based solely on cognitive disability.  D is 


insane if at the time of her act she was laboring under such a 


defect of reason from a disease of the mind that 1.  she didn’t 


know the nature and quality of the act she was doing or 2.  didn’t 


know that what she was doing was wrong. 





1.  There is a question as to whether knowing what your 



doing is wrong means legally or morally.  Courts come out 



differently.






a.  State v. Cameron:  D killed step mom by stabbing 




her 70 times, he believed that she was a sorceress 




and a witch.  He knew the crime was illegally but 




believed that god made him do it.  The court held that 




one who believes that she is acting onset the direct 




command of God is no less insane because she 




nevertheless knows murder is prohibited by the 




laws.  It may actually emphasize insanity.  





2.  Many courts reject (some adopt MPC) because it doesn’t 



allow the jury it identify people who can’t control their 



behavior.






a.  US v. Freeman: page 992:  a narcotics chronic 




addict sold two counts of narcotics and alleged 




insanity as his defense.  The court held that the case 




should be sent remanded and the trial court should 




use a broader test that irresistible impulse, the D 




should be whether the D could control their 





impulses. 




c.  Durham rule:  Recognized that disease or defect of the mind 


may impair the whole mind and not a subdivided portion of it.  


The D is not criminally responsible if her unlawful act was the 


product of a mental disease or defect.  It eliminates the right 


wrong dichotomy.  Experts cna and did say what they want.  But 


the test fails to give any standards and the psychiatrist’s 



testimony usurps the jury’s function.  




c.  Irresistible impulse test:   In order to broaden the scope of the 


MNaghten some states and federal courts have come up with 



irresistible impulse.





1.  Both this and M’naghten require total incapacitation.





2.  Some courts have applied it very strictly, they ask if 



there were a police woman at your elbow, what would you 



do. 





3.  psychiatry is an art rather than a science. 




d.  As a response to Hinkley shooting Regan, there became a move 


to get rid of the part of the insanity defense that said, have gotten 


rid of the irresistible impulse test.




e.  MPC:  D is not responsible for her criminal conduct if at the 


time of the conduct as the result of a mental disease or defect she 


lacked substantial capacity to 1) appreciate the criminality, or to 


conform her conduct to the requirements of the law.  





1.  Appreciate rather than know:  It broadened 




M’Naghten’s knowledge test, which was sometimes held to 



be satisfied merely by the capacity to verbalize  socially 



acceptable answers to questions.   Some courts under 



M’Naghten didn’t go that far.  





2.  Lacks substantial capacity rather than total 




incapacitation. 




f.  Most criminals are odd, but must be something more 



fundamentally different.  



7.  Diminished Capacity




a.  General:  Is it right not to let the D bring in evidence 



concerning her state of mind?




1.  It depends on if you trust psychiatrists




b.  Society is afraid of this defense





1.  It swallows up the insanity defense and thus, the insane 



do not get treated.





2.  Violent defendants might be deterable





3.  It weakens the norm






a.  Creates a lesser standard for groups of people, 




unequal treatment under the law. 




c.  At the margin, all criminals are somewhat abnormal




d.  War between deterrence and retribution




e.  Intoxication v. diminished capacity





1.  Intoxication is quantifiable, and a passing phase that 



people find easier to identify with.




f.  Pros of diminished capacity





1.  Can ameliorate limitations of M’Naghton defense





2.  Gives jurors a legitimate tool, they don’t have to use EED 



when there is no reasonable excuse.





3.  Throw in my constitutional argument




g.  Cons of diminished capacity





1.  Can supersede indignity defense:  Could avoid indefinite 



commitment and get reduced sentence





2.  Lowers the norm





3.  A very fuzzy doctrine.  





4.  If there is no lessor crime is not available that lacks the 



mens rea in the more serious crime, the D could be 




exonerated. 




h.  Some courts use it only to negate a specific intent crime.  This 


has all the problems of specific intent that it had in insanity.






1.  US v. Brawner:  page 1036 DC:  Convicted of murder with 



premeditation.  Permitted to introduce expert testimony as 



to diminished capacity, if it is relevant to negative the 



specific mens rea.  (A contemporary trend)




i:  Many courts hold that there is no demented capacity:  





1.  State v. Wilcox:  D may not offer expert psychiatric 



testimony unrelated to the insanity defense showing that 



he lacked the mental capacity to for the specific mens rea.  



8.  Entrapment




1.  NYPL 40.05





a.  Affirmative defense that D induced or encouraged to 



commit crime by public servant or cooperative and when 



methods used created a substantial risk that the offense 



would be committed  by a person not otherwise disposed to 



commit it.  Inducement must be active.





b.  NYPL is an OBJECTIVE standard but the courts 




effectively apply a subjective standard




2.  Objective v. Subjective





a.  Objective:  What police acts are prohibited for 




inducement?






1.  Pros:  Bright line clear standard






2.  Cons:  Worse for D, has nothing to do with how 




they reacted, hard to find standards, this activity in 




many entrapment cases is just asking repeatedly but 




this is okay in a lot of other instances.  





b.  Subjective:  Court wants to test whether the D had the 



“predisposition” to commit the crime.  






1. Pros:  It gets to the core of why we have the 




defense, it helps Ds






2.  Cons:  hard to know mental state of Ds, may 




punish for past wrongs.






3.  US v. Sherman:  S.C. reversed D’s conviction.  IT 




was entrapment as a matter of law (so maybe not 




really a subjective standard)  Conduct was a product 




of creative law enforcement activity.  (Drug addict 




badgered to do drugs).  




3.  Why we have it:  





a.  No existence of a violation of norms until the State 



creates it, therefore no legitimate state interest in 




enforcing the norm.  





b.  Normally we punish for harm, there was no harm until 



the state created it.  




4.  Temptation is not enough, was this  an opportunity or an 


inducement?




